7'

10.

The reason for a swimming pool to
than the actual depth is -
(a) Reflection
(¢) Refraction

appear less deep

(b) Light scattering

(d) None of the above

Given below are two Statements, in which one is

labelled as Assertion (A) and the other as Reason (R)-
As-"_““"“ (A) @ “Five Eyes” is an Intelligence
A"‘fm“ of 5 countries including  US.A.,
U.K., Canada, Australia and New Zealand.

Reason (R) : They share intelligence inputs
re gnnlmg threats to their countries' interests through
a collective secret database called “Stone Ghost™.

Scc‘:cl the correct answer using the code given below-
e~

(a) (A) is true but (R) is false.

(b) Both (A) and (R) are true but (R) is not correct
explanation of (A).

(c) Both (A) and (R) are true and (R) is correct
explanation of (A).
(d) (A) is false but (R) is true.

Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason
(R) -
Assertion (A) : Pulses, when included in
intercropping with cereals, act as
_ complimentary crops.
Reason (R) : Pulses with tap root system, do not
compete for nutrients and moisture
with cereals having fibrous root system.
Select the correct answer using the code given below-
Code -
(a) (A) is false but (R) is true.
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A).
(€) (A) is true but (R) is false.
(d) Both (A) and (R) are true and (R) is correct
explanation of (A).

Consider the following events and arrange them in
correct chronological order starting from the earliest
to the last activity :

(I) Discovery of pi meson

(II) Discovery of Neutron

(I1I) Discovery of Electron .

(IV) Discovery of Proton

Select the correct answer using the code given below:
Code -

7. Rafin ya @ aRaRa TeRrE A @ TER wdld T

H TR & —

(a) wraid (b) wepter FaOHA
_eyanmads (d) Sy A @ HE A

fa @ @om Ru v & ReM A @ @
afaert (A) 3R GER W BRI (R) Tl T & -
afywer (A) : "TTgd JE WY AU wiRa,
fes, were, sifefern ok o ufka 5 <
a1 g yfan oA ) ‘

FRO1 (R) : "% ¥R AME U@ Afed 1@
e & urm A Ay A B Rl @ fg @A

@ an ST T3 & & |
A9 Ry m #e d 76 IW gfg -
Te —

(a) (A) 31T & fg (R) i &
(b) (A) 3R (R) @i wea & feg (R). (A) @ W&
a8 & § )

Mmaﬁz (R) 2 e & 3R (R), (A) @ W&
@ H 8 |

(d) (A) 3 & faeg (R) W<l &1

9. 9 T sy Ru v &, R @ & AEU (A)

afR qER B FROT (R) FEl TATE —
AU (A) ; AT drell T D AT AT
@ ®Y ¥ miAd 81 R AR [T
WO @ G4 § BTl Bl @ |
HRT (R) : HI WS WOl aTcl] Tofel WER WS
gl AT AN @ Bl @
uya dedi R Tl @ fag wfsagt d
Tl B
A Ry MU HE T STUN TD WE IR F GG
Hforg -
i@_
(a) (A) 3T & feg (R) Wiw 8|
T (A) IR (R) AT wa § g (R, (A) A &
AR R FHET €
(c) (A) wen & foeg (R) 39 2|
(B (A) 3R (R) a1 W & 3R (R), (A) B ¥
aTEN HAl & |

10. fr=fafag vemall W R At @ = 9@

FaAEd H eEafed SR, wa ugd A ARe
Wﬁgqam%rﬂ nfafafey o -

(1) g R A E

(I =i H @

(I11) FATEH B @

(IV) Wi @ @

A Ry U He F WA I FE SW B G4
T :

'@ -
(8) 1 L, IV, I (b) UL TL L IV (@A, 11, v, 11 (b) 111, 10, 1, IV
(¢) UL, IV, IL I (d) L IV, LTI AL IV, L, ] (d) 1, IV, 1, 11
[C-01] Page 3 of 32
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¢ Rl ¥ W oy
. o feg T T
1. Given below are two statements, in which one is 1" m (A) Terl {ﬂ’\’ Gl W.(Rﬁ) ?T'ﬁiﬁ G;;, g
labelled as Assertion (A) and the other as Reason (R): (A): ayprat b T | ol
Assertion (A) : The struggles in South Africa i IWTB Agd @ forg daR
prepared Gandhiji to lead the National Movement. e . ZfRyor 3B i el @ 1 )
Reason (R) : Sceing the militancy of Indians in hahind (% AN 1 ge faw@d 8 T o 1 ey

South Africa, Gandhiji was convinced that the Indian N gt B fro qm’ﬁ wod 3R ilﬁl?r:q

people would be ready for militant struggle and i)
sacrifice for a cause, @ farg dar & aﬂéwmmﬁﬁm
Select the correct answer from the code given below: #ra Ry T He
Code - A R). (A) B
(a) Both (A) and (R) are correct and (R) is correct (A) @1 (R) gl W & AR (
explanation of (A), =] &l € N
(b) (A) is correct but (R) is incorrect. (b) (A) Wl & frg (R”‘T"E ! R). (A) A ¥
(¢) Both (A) and (R) are correct by (R) is not the (¢) (A) @ (R) BT Wl & P (),
correct explanation of (A), e e HYan € |
(d) (A) is incorrect but (R) js correct. (d) (A) Tera & frg (R) W& gl a3
12. A sum invested at 7% simple interest per annum UF TR 7% WIAE_@rd @ X W S5 T
grows to T 540 in 5 years. The same amount at 9% 4028 S &) @ gEafh 9% JATTAT XTHRT
simple interest per annum in 3 years will grow to be- AT ﬁ X 3q9 ¥ & WA —
(a) T 450 (b) T 520 (a) 4502 (b) 520
(¢) T420 (d) ¥ 508 (©) 4203 308 3T
13. Match List-I with List-IT and select the comrect 13. -1 @ -1 [ gafera PR den A Ry
answer using the code given below - T & A Hél IR &1 949 PIfg —
List-I List-11 @1 q-11
A.Jaya Varma Sinha 1. Author of “Tales from A. 51 a9t Rier 1. "2 W
Banana Republic* Rufeas” + J@®
B. Manoje Nath 2. P.M. of Thailand B. WA 1 Ui @ oy
C. Srettha Thavisin 3. The first woman ' ' o
Chairperson of the C. #en afafR 3. 303 A A e Afeen
Railway Board Sres
D. Dr. Mohamed Muizzu 4. President of Maldives D. . HiewT TN —4. "lﬂalﬂ @ wrufy
Code - e -
(a) A4,B-1.C-2,D-3  (b) A2, B-1,C-3, D4 (?) A4,B-1,C-2,D3  (b) A-2, B-1,C-3, D4
(€) A-3,B-1,C-2,D-4  (d) A-3,B-2,C-1,D4 A-3,B-1,C-2,D4  (d) A-3,B-2,C-1, D-4
14. Out of the four given pairs below, how many of the Re ™ ar g § @ fey I w8 afera
following pairs are correctly matched? }, g? R
List-I List-1I *‘/F -1 =11 _
(Research Institute) (City) 9% 4 (@rE= HIT) (aTeR) 249- L
(A) Arid Forest Research - Jodhpur ‘1-5; (A) IS T U - 29 . 5
Institute b LiEIE
Y
(B) Himalayan Forest - Dehradun (B) fewrera a9 I — 2—5“1—.[ A -
Research Institute TR nA-S
(C) Rain Forest Research - Jorhat ﬂ-q' 5 @ Tuf T slﬂ'ﬂ-mq - Wree s
Institute 7_( TR 9:9’-—'
(D) Tropical Forest - Jabalpur A (R SwHfedy a7 - W \\_\{’ S
_ Research Institute FTHUT I e, |
(a) 4 (b) 2 (a) 4 (b) 2
(€)1 (d) 3 ' () 1 v At

T Pt AT TN

A N
MY s
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15.

16.

be A2

Consufcr the following statements with reference to

0SMOSiS :

(1) If the semipermeable membrane js placed
between the solvent and solution, the solvent
molecules will flow through the membrane from
pure solvent to the solution,

(2) The process of flow of solvent i called as reverse
0SMOSIS.

Select the correct answer using the code given below:

(a) Both | and 2 (b) Only |

(c) Neither 1 nor 2 (d) Only 2

Consider the following statements with reference to
Uttar Pradesh Budget, 2023-24 -

75%-1. The size of the Budget is T 7.60.000 crore.

P, 2. The Fiscal Deficit is estimated to be at T 84.883.16

T T ®

15. & ol # Prefafaa st ® AR

iﬂf\‘,m_

(1) uft g anfurer B fRoms sk e
@ ma wa @ o a femas & ] g el
i A Pae we g feas @ e 3 AR
warf@ea & I |

(2) e @ yare @ e gfvm gfedm wrRRm
wEar § )

N Ru 10 He & ganr N FE IR F U

#Hfore —

| afiR 2 & (b) Fad |
()=t an 1= 2 (d) a2

16. ger w3y aore, 2023-24 & wel . Frafafaa

ol R faar S -
| a9e & AHR 7,60,000 TSI B _
2. TroTET TTET 84,883.16 TS TIE BT ATAA

21

crore.
Q_ﬁ Select the correct answer using the code given below: ;ﬂ:m =T T
105 Code- Cys¥? ag'_
W (8 Both 1 and 2 (b) Only 2 10# A iR 2 2R (b) Bt 2
(c) Neither | nor 2 (d) Only 1 EaAMIMEH2 - (d) @ad |
17. Consider the following events and arrange them in 17, Fr=ififaa wemsll w frar @ T IS
chronological order - ina',}mrm? arafted #fg —
1. C.R. Rao, the cminent Statistician, passed away L. v gifaifdg, MR, @ & e
I1. Ustad Ali Zaki Haider, the Rudra Veena exponent, I ¥% qoN ae®, S A WA dax & FE
lllpl:ss:d‘;wayl’ hak, father of public toilets i I, S ¥ wrw,
.ml;i:spa\:::d::v:y. ather of public toilets in . |
IV. M.S. Swaminathan, father of India's Green ° 5 ;;Rﬂﬁ:: s Wil ® W, T
Revolution, passed awa
Select the comc[l’?lilswer usiyng the code given below- A i Ty e @ I g -
Code - Yy e -
() L L, I, IV (b) IV, 11, 111, 1 9 (a) I, I, I, IV (b) IV, I1, 111, 1
(©) IV, LIL I @muLLy 4s? }ﬂ_’; (€) IV, L 1L M LI LIV
18. Consider the following events of seed multiplication  18. 5t v oo @ Fr=fefaa aemst w faar o
stages and arrange these in correct chronological IR TF URMIE WO | fom W @ wd
order from earliest stage to last - Yo FATTHAS B H AR R —
I. Breeder seed Il. Foundationseed %% L W& CIE I 3mardy 4
(S® m. Centified seed IV. Nucleus seed _jsﬁ 1. wnfere e IV. B=a
lq(' ' Select the correct answer from the code given below- Aa Ry v He A HE ST @I g9 Fiforg —
Code - o< -
v, LIL I (b) IL, L, I, IV yIv, LI I (b) I, I, 1, IV
(e) ML LIV, T (d) I 1V, 111, 1 () L LIV, I (d) I IV, 111, 1
[C-01]
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36. What is correct in the following statement/s with
reference to Uttar Pradesh?
(A) Age has been determined in Pre-primary
education as 3 to § years,
(B) Age has been determined in Primary education as

6to 11 years,
Select the correct answer from the following code
Code -
(a) Only B (b) Only A
* (c) Neither A nor B (d) Both A and B
37. Consider the important events of coal mining in India
and amange these in comrect chronological order
starting from the earliest to the last activity —
L. First production of coal in Raniganj
I1. Establishment of Coal India Ld, (CIL)
1. Nationalisation of coal mines
IV. Establishment of National Coal Development
Corporation (NCDC)
Select the correct answer using the code given below:
Code -
(@) L L 11, IV (b) LIIL 1L, IV
(¢) L1 111, IV (d) LIV, 1L 11

38. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason
(R)-" a
Assertion (A) : The equatorial forest biome is the

biome with the densest and highest biomass.
Reason (R) : There is high rainfall and high
temperature throughout the year in the
equatorial forest region,
Select the correct answer using the code given below:
Code -
(a) (A) is false but (R) is true.

(b) Both (A) and (R) are true and (R) is correct

explanation of (A).
(€) (A) is true but (R) is false.

(d) Both (A) and (R) are true but (R) is not correct |

explanation of (A).

9. Consider the following statements with reference to

Bankim Chandra Chattopadhyay:
I. He was the first graduate of Calcutta University.
2. “Sitaram’ was his last Novel.

Select the correct answer using the code given below:

ww/ﬂmﬁ‘i“
as.gm!ﬁ"m"ﬁmﬁ :

am w &/ S ,
11:: :gd aretfivas Rrert @1 amg 39 fetfa

ad PaifRa 8
vy ) amg 69 11
() wrerfivas FEM t :
ﬂ\ﬂﬂqnqa‘r‘eﬁvﬁﬁﬂ""jﬁ“

(a)
JefamATAB

g Tl ge Ut afar —
) uEd R oy s T

i 3 vl @1 oo ST

1. e gl RS (CIL) @ e

| &1
e e faet P (NCDC) )
1 Ry mu g P SHET IR EL TE TW

e BRI

@ -
C@upfiv B LULILIY
(c) L IL 1L, IV (d) LIV, 1L 11

38. M < puw RA M & R v 31 AfweE (4

3R TR B RV (R) T T & —
FfFU (A): Ryaia s Ta g1 vd Tt
SR aTel 99 qIEH R |

FRY (R): Rgadia a7 &= § af sk 9= avi @
ST A BT R |

A RY 10 a2 H wErma ¥ 9 SR 51 9

e

@_

(@) (A) 3w & g (R) W 2

B W) T (R) A v # e (R), (A) 3 W@

AT BT § |

(€) (A) 1 ¥ R (R) arereg 2
D@ wn ®) 3w ¢ feg (R), (a) ) @

Code - '
(a) Both 1 and 2 (b) Neither 1 nor 2
: 13R
(€) Only 1 (d) Only 2 "’:::;m lza‘r#i ®)F a3 &2
= (d)
--01] . Pace 100f32 o e 2
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45. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (R):
'7\ Assertion (A) : Rabi crops in lllf.“ll are
"}' predominantly cultivated in north-
5,2 ’G? western states like Punjab and Haryana.
w \ Reason (R) : The success of Rabi crops in these
7 states depends on the rain due (o

Q'/;, estern tropical eyelones during winters.
Select the correct answer using the code given below:

y Code -
‘b (a) Both (A) and (R) are true but (R) is not the correct

explanation of (A).

(b) (A) is false but (R) is true,

(€) (A) is true but (R) is false,

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).

46. With reference to “Kuzbass region in Russia”, which

of the following statement/s is/are correct?

L. This region is rich in coal and iron ore.

2. Novosibirsk is an important industrial centre of

this region.
Select the correct answer using the code given below:
Code -
(a) Both 1 and 2 (b) Only 2
(c) Only 1 (d) Neither 1 nor 2

47. Two statements are given below, one is labelled as
Assertion (A) and the other as Reason (R) ;
Assertion (A) : In October 1940, Gandhiji gave call

for a limited Satyagraha by a few
selected individuals.
Reason (R) : The Satyagraha was kept limited so as
to embrace Britain's war efforts.
Select the correct answer using the code given below:
Code -
(a) Both (A) and (R) are true and (R) is correct
explanation of (A).
(b) (A) is true but (R) is false. -
(c) Both (A) and (R) are true but (R) is not correct
explanation of (A).
(d) (A) is false but (R) is true.

48. Which statement is true regarding Bipin Chandra

?E)d(;) st (R) <l w & g (R). (A) @1 g

airan e @Al €|
(b)(A)m‘éfaﬁj(R)Wg:
=g (R) A

L’fﬁ::iﬁ(ﬁmﬁ?ﬁm?aﬂﬂmm)mw
T P # | e o
45.-wﬁa%—ummz}a“§$ﬂﬁ.ﬁmﬁvrﬁgﬂqﬁ

o WA R/E
TS S
2. Aafafaes 3w &7 B ¢b Heaqel e 3y

gl
9 Ry v e & TANT H GEl SR B g
iyl .
\.ﬁdamza’m‘i (b) Bad 2
(c) &gt | (daar1=mre2

47. 9 ) A Ry MU E, v &1 ffwuH (A) 3R
T B BROT (R) FET T & 1
AT (A) : HTGER 1940 F, TSN ¥ T T
gV @l ERT Wi W @
3TMEar fasam |
@R (R) : I8 9Oe iy DG & man aifs
ﬁéqa%qam;afra‘ﬂqﬁm
‘ﬁﬁﬁ‘lﬁqﬁtﬁmﬂmﬂﬁwmw

@' —
() (A) IR (R) N7 W=y ¥ aire (R), (A) & W&

f=g (R) arrew 2

(A) IR (R) A weg & '
\ﬁ"mqﬁmm &g (R), (A) &

(d)(A)mﬁﬁﬁ(R)m 2
48'1%&?%%*“3‘“’1%%25%@%?

Pal?

. He was a Brahmo Samaj Leader and Social . 98 #ErRmh T T TS R o) |
Reformer. 2.9 R m )y WIS iy THTRE

2. A weekly magazine named New India was N Ry fepa|
published. TRE I T I e wew g -

Select the correct answer using the code given below: oc —

Code - ] .

(a) Neither 1 nor 2 (b) Both 1 and2 . W:‘“‘”’”ﬁ2 (b) 1 3k 2 ey

(c) Only 2 (d) Only 1 (c) & 2 (@)

[C-01] hael |
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@ Consider the fo!lowing Statemenys -

Norshod i FET0wd o
carved a niche for itself i handi rk and has
throughout the world. craft industry

2 Moradabal! Special Economje Zone
first SEZ in northemn Indiy dev
pradesh Government,

i;l;c:.lhc correcl answer using the coqe given below:
(s) Only 1 _ (b) Both 1 and 2
() Neither 1 nor 2 (d) Only 2
§0. Given below are two statements, One is labelled
Assertion (A) and the other as Reason (R) :
Assertion (A) : Jaunpur is known as Siraj-c-Hing.
Reason (R) : Jaunpur was a great centre of education
during the Sharqi period.
Select the correct answer using the code given below:
Code - |
(a) (A) is true but (R) is false.
(b) Both (A) and (R) are true and (R) is correct
explanation of (A).
(c) Both (A) and (R) are true but (R) is not correct
explanation of (A).
(d) (A) is false but (R) is true.

(SEZ) is the
cloped by Unar

ias

61. Rocket works on the principle of the following :
(a) Energy Conservation (b) Bernoulli Theorem
(¢) Conservation of (d) Avogadro’s Concept
Momentum

62. Regarding Punjab Merger, which of the following
statement is false? '
(a) On 29* March, 1849, the Govemor General
announced that the state of Punjab had come to
an end.
(b) All the territories of Maharaja Duleep Singh
became part of the Indian British Empire.
(c) Duleep Singh was given an annual pension of
<2,50,000.
(d) None of the above
83. 5 equivalent vertical lines are drawn on a board. 5
equidistant horizontal lines are also drawn on the
board cutting the 5 vertical lines and the distance
between any two consecutive horizontal lines is equal
to that between any two consecutive vertical lines.
What is the maximum number of squares, thus

formed? ,

(a) 16 (b) 26 .

(c) 30 (d) None of the above
i‘é‘.ﬁ]

||

s
Pagc150f32 0 B =

@mﬁmﬂ Fu W AR W -

I IRIETAE TR @ wm @ e ufg @ sk o
afvn w0 wwfien gom 8 aeh T @
TR A P

2. wicrare g anfife m (SEZ) 9o WRd ¥
IR YR IR R AafE uwen SEZ R

NA Re e e @ af g e g Hfg -

xe -

J‘f had |

(c)stam1smir2

(b) 1 3ft? 2 @1
(d) Fad 2
60. N &) @ faw v ¥ va @ afau (A) AR
TIR W BRI (R) BE 71 2
e (A) : SR @1 frm-o-fe @ ™ A
A ©
FROT (R) : SR ol @1t 8 e & o &=
WY W |
A Ry aE 9w IR g
@—.
(a) (A) Wil & g (R) /el 8 |
M (A) 3R (R) T W@ E AR (R), (A) BT
R AT & |
(©) (A) 3R (R) il e & fFeg (R), (A) B 6@
AR ) weal & |
(d) (A) 3T @ feg (R) <A €|
61. Pr=fafag i @ vive fre Rigra | a1 &

&
A i o

(a) Tl e
CRIGEIR L (d) JTATTIET B TR
62. toma @ faerm & waw A, Ffafea 3 A dE
gor (e W2
L@ﬂfmmﬂ. 1849 T TR TERA @ AR | EEon
d 6 doia T I @ R
(b) FERTEN <du Rie & Wi wew ARdw fafen
[ &1 R @ g 2|

(c) =iy fRig & 2,50.000% affew v 2 & )
(d) I 3§ A T

63. vw A1$ W 5 wHieReN Wi g A wE ¥ |
A W 5 SR X B Fred gg S aiav
ammzﬂﬁﬂéglwaw
il & @9 @ g Rl @ PR el Yl
3 Aa 41 g0 @ T ¢ | T8 e A T a1 A
I aid aE b 82

(@ 16 ALY 26
() 30 (d) SWRIa H | Fg e

L IARRN A
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_ | - -.
64. With reference to “69™ National Film Awards for  64. "69d Iy fscH q@_'_‘ HIA |/E

2021", which of the following statement/s isfare

correct? B/E? e "l'l"EITTz‘ Wﬁqﬂﬁﬂ' Col
AR L W o cr o I, "3MRIRAR.
I. “RRR" and “Gangubai Kathiawadi" bagged 5 and forer |1
. e e 5 3R 6 I PREPR wrer e g
6 National Awards respectively, .  d geae T NS
2. “Rocketry: The Nambi Effect” won the best 2 ' S
: " - IR SR @1
Feature Flil‘pl:.‘\“-lrd. ' 4R Ry T TT W= wanT e qg9
Select the corpugl answer using the code given below: AR
Code - N ' .
~J - xe -
(8) Neither 1682 (b) Both 1 and 2 @amim@z (b 13R 23
() Only2 (d) 0 (d) 1
y2 nly | % Hacl 2 . SO
65. In reference to Mangalayaan launched by ISRO, 5. gxRt g1t fdy T = '
consider the following statements — fraferRaa sodl w ﬁm; T
(D Itis also called as the Mars Orbiter Missjon. () 8 7 3fffdeR f e K b T o |
(I $¥ =TgwR 2013 # wf=a foa
(I Tt was laugiched on November 2013. el STR T Ty
4 A T Ry 1w FE I AT N
Select the corfdct answer using the code given below: : : :
~l PIfog : ,

Code- - (0 7 —

(a) Neither I ror II (b) Both I and II @=a 1A J&{] 3R 11 2T

(c) Only 1 (d) Only 11 (©) BT 1 (d) @aa 1

66. Which of the following statement/s is/are correct? 66. fr=forRea werFl d ¥ BrA-—wT/¥ WD 2/

1. ITC means.the credit of Input Tax on the supplies 1. 313 A0, & HaeE fR dohiora afie g wm
of goodsfa‘gd services or both received by a _ TGt 3 damit @ A A Mg W gge
mgislered%son. o fee R

2. Eligibility ofITC which may be as under-taxable 2. eﬁﬁ b “""m‘“ U AR Bl Wl -
supply, non-taxable supply, zero-rated supply. T | e, R—aw zj|.:;q IRy, A &I

(@ Bohland2 ~  (b) Only2 " /ﬁa:mmqﬁ (b) Bt 2

(€) Neither 1ngr2 - (d) Only 1 ©ad1rd2 (d) Bae |

67. Which of the @l}owing statement/s is/are incorrect? ~ 67. T/ TN A Y P /A oo

A. Part I on Fundamental Rights of the Constitution =04
is based upgd Bill of Rights of the U.S.A. A. ARB R R 7 g A

B. “Right to Di¢" is a Fundamental Right under I W ARy Y kit
Article 21 of the Constitution. " B. Wiy >

- C. Indian Constitution is a complete Federal _ YR INFR |
Constitution. @W?qﬁk% I
D. Fundamental Rights can be removed under the D. Wmuﬁgﬁuﬁm gl

Indian Constitution,

Code - EE‘—EH\\—EI

(@ OnlyBandC.. - (b) Only C and D (a) B aike

(c) Only B (d) Only B, C and D A W-ﬁ-ﬁ-s ) B3 Cair p ¥
[Conp - T Paclornm WD v
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72. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : Significant technical and institutional

rcfm:ms in Indian agriculture are
required to feed the growing population.
Reason (R) : A significant number of farmers in
many parts in India still rely on monsoon
rains and natural soil fertility for agriculture.
Select the correct answer using the code given below:
Code -
(8) Both (A) and (R) are true and (R) is the correct
explanatiun::l’(f\).
(b) (A) is true but (R) is false,
(€) (A) is false but (R) is true.
(d) Both (A)_and (‘R) are true but (R) is not the correct
explanation of (A).
73. Which state of India is renowned for its deposits of
limestone, gypsum, salt and zinc?
(a) Hap'nna (b) Rajasthan
(c) Gujarat (d) Punjab
74. One fourth of the sum of the odd numbers greater
than 14 but less than 50 is the square of -
(a) 2 (b) 24
(c) 4 (d) None of the above

-Lll- 75. With Feference to the Gaza Strip, which of the
P following statement/s is/are correct?

Q5 7 1. Itis bordered by Egypt.

Y37 2.1tis bordered by Israel.

15, 17, 12, 21,23,
25 2%, A9, 3|

72. 1 71 wuq Ry MY @ ,'
KIREL (mwwﬂj’;{“’ﬁgﬁg&q‘é;
GTﬁ‘fﬂiﬂ?HA):‘: mﬁﬂqqﬁﬁ_ imﬂﬁafh

FRT (R) : kA & FY . | fby
i 0 @ forg AL T ok g

Dl
WQQW@?}?@WWWW;

ae
%\)aﬁ? (R) @i wied & 3R (R), (A) 3 4
e il 2 |

(b) (A) W ? fareg (R) 39l € |
() (A) 3T & freg (R) T B
(d) (A) 3R (R) ¥ & & g (R), (A) 3t
2 +E) w2 |

73. RA @1 B @1 g g R, TR, T gy
T g fgry @ forg Wi 87
(a) &Ramon s
(c) TToRm (d) vomd

74. 14 72 o 50 9 B Ron wE@mi @ i 5
Up—aiig_aif & —
(a) 2@
(c) 4 71

75. It ged) @ W H,
A DA/ T /&
1. 39 91 e | el 2
2. 5P AT SRS | A 2

(b) 24 &1
: SR H A 3R
HAA /YA §

4\ Select the correct answer using the code given below- M Ry T ae @ 9d SR P 9T HIoTY —

31 ! Code - 3 ‘3’ '3 s EE': - |

231 (a) Only 1 (b) Neither 1 noé%g A4 3 (a) &ad | A 1A 2

25t  (€) Both 1 and 2 (d) Only 2 / L4971 3R 2 Y (d) Baat 2

1 3176. Consider the following statements with reference o 76. IR_IeY Nae e Rrg TR — 3
» Uttar Pradesh Global Investors Summit-2023. "% HeH A 3 2 @

3 ¥ PUAI R [JUR PIwiw —

, 1. The Summit was held in Lucknow. 4 2/ Y9 1. RRR v o # g fasar T o)
29 _ 2. The Summit was inaugurated by the President of 2. RRR wies @ ST RT3 Ul gw
3 % India. _ . favar may o7
985” %i];ctthe correct answer using the code given I)f:locv.:‘:‘!r ﬁ fed R BT WA B L IR g

-~ = &
237 (a) Only 1 Y ) Neitherlnor2 1 (@) @9 | b
(d) Both 1 and 2 £ () d3w 2 mIma;
7 - UM v 2

ol 7—; (c) Only 2

15 : Districts of U.P.) is correctly matched?
(¥ (a) Devi Patan Temple — (b) Chinese Temple -
l S/ Shravasti Mahoba
?—” (c) Bawani Imali, (d) Samaspur Bird
6 Shaheed Memorial - Sanctuary — Amethi
Fatehpur

78. Which one of the following (Boards in India -

Headquarter) is not correctly matched?
(a) Coffee Board - (b) Tea Board - Kolkata
Hyderabad
(c) Spices Board — Kochi (d) Rubber Board -~
Kottayam

Which one of the following pairs (Visitable places -

7 Prefoen g Xy v — gy 7
S0 S 5 99 P Ryal) 7 ¢

&fﬁ%ﬁ‘fﬁ?— (b) A =iy — sy
(©) I 7, wrdye ) A
ma T P e

ln'mﬁﬁﬁﬁﬁqWW(mﬁm‘-

&) gafer w1y &7
3 T~ ¥R (6) 9 v — et
(©) 70T 9 - iRy (4) YR are

[C-01]
ek 2
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k
w/ \<‘A @9

ch List-l with List-I1 £
79 h:::m S ol ek ;:l!:‘wslflccl the correct 79, i1 @ wdi—11 @ gifem AR e A Ry
List-1 List-11 T HE W /@ IW P - \
(Capital City) (Country) -1 -1l
A. Kampala I. Rwanda (ﬂm‘-’ﬁ IER) (3“) ‘(
B. Kigali 2. Uganda A. wure |, ¥are] \L
C. Kinshasa 3. Sudan B. fhrely | 2, e
D. Khartoum 4. Democratic Republic of the C. fvamem S 3. 3
Congo D. W . & waifEs TRy
Code - /e -
(8) A-1.B-2,C4,D-3  (b) A1, B2, C-3, D4 A-1,B2,C-4.D3  (b) A-1, B-2, C-3. D4
(€) A-2,B-1,C4,D-3  (d) A-2,B-1,C-3. D4 ¢) A-2.B-1,C4,D-3  (d) A2, B-1,C-3, D4
80, The correct sequence from north to south of the fraf ure i faf= @3, Rt we aw o &, @
various passes called Ghats in the Western Ghat is - gr 9 <ffr & ud e -

(a) Thal Ghat = Pal Ghat = Bhor Ghat
(b) Thal Ghat = Bhor Ghat = Pal Ghat
(¢) Bhor Ghat = Thal Ghat = Pal Ghat
(d) Bhor Ghat — Pal Ghat — Thal Ghat

(a) o1 wire — UId 91 — R °re
/{}Wtﬂt—)"ﬂ?ﬂm—)mﬁﬂﬁ‘] ‘@_
(€) 4R " — oTd °re — UTd =1e

(d) %k mre — UTd UIe — UTd °1e

81. Match List-I and List-II and choose the correct ,?1. '\tﬁfl_I afr -1 B -ﬁ'ﬁﬁm Ffow @ A Ry
answer using the code given below - Y Fe § I g -

List-I List-11 -1 -
(Gold Medalists) . (Game) (vt gew fasia) (@)
A. Annu Rani 1. 5000 metre A. 3= T 1. 5000 #rex
B. Parul Chaudhary 2. Javelin throw B. Uroe dedl 2.\l Bd
C. Tajinderpal Singh Toor 3. 10 m. air pistol C. afor=xura fie _qqﬁ 3. 109, TR fres
D. Palak Gulia 4, Shot put D. e Tferan Yy 4. 7 o
Code - e -
(a) A-2, B-1,C4,D-3  (b) A-1,B-2,C-4,D-3 (a) A-2.B-1,C4,D-3  (b) A-1,B-2,C4,D-3

82. In a group of 25 people, 12 read French, 15 read @i @ @ wag W, 12 @ B ged € ;S,IFI’I‘T
English while 6 of them read none of these two. How 3l ved €, Wafe 5 A _6 A 6T &1 T B AR
4 w21 S_Y R S wa e sk 2

| e S0y L
(c) A-2,B4,C-3,D-1 (d) A-1,B-2,C-3,D4 ) A-2,B4,C-3,D-1  (d) A-1,B-2,C-3,D4

many of them read French and English both? —

(@) 0 (b) 8 (a) " o

(c) 4 (d) None of the above {c) 4 (d) TR A W o T
83. Match List-I with List-II and choose the corrccl -1 B -1l ﬂ%ﬁ;ﬁ;%ﬁlﬁ%ﬂgﬁqﬁﬂ— ®

answer using the code given below lhe lms I fau Y wme & iy

. ListI List-11 -1 p i

(Product) (Dislrict (Sare) | q

A. Kala Namak Rice 1. Pratapgarh A"ﬁ?‘[ﬂ qrdael L WaTaTe ;L—

B. Desi Ghee 2. Kushinagar B. W3 3 T,“‘““'Rw

C. Amla 3. Siddharth Nagar C. ?;:nf'" ‘ 4‘ figr

D. Banana Fiber 4. Auraiya ::,—z b BT 3

Code - . .

C-1,D4 (8) A2 B3,CY/D-1  (bLA3.B2.CT;

(a) A-2, B-3,C4,D-1 (:) ij 2; B ] s B

wn l T
lC-m] ag (IO

‘Sej 0 )
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Given below el Wo statements, iy which one iy
|st"°d as Asscr(.mn (A) and the other as Reason le
My:rliﬂ“ (A) ¢ The Bengal British g

Indian Soci
h ocie
was founded ip 184 b

3 as ares
g ssult o
George Thompson's efforts [

Reason (R) : George Thompson wy brought ¢
from England by Dwyrk .

anath Tagore
" 1 H L
to organise the politic .

‘ al movement.
gelect the correct answer using the code piven below:

Code -

(o) (A) is true but (R) is false.

(b) (A) is false but (R) is true.

(c) Both (A) and (R) are true and (R) js corit
explanation of (A).

(d) Both (A) and (R) are true but (R) is not correct
explanation of (A).

91. Find missing number in the following figure -

@ O

(a) 1 (b) 26
(c) 31 (d) None of the above

82. Consider the following statements with reference to
National Book Fair -
1. It was organized at Lucknow from September 22
to October 2, 2023.
2. It was organized by Government of India.
Select the correct answer from the code given below-
Code -
(a) Only 1
(c) Both 1 and 2

. Given below are two statements, in which one is
Assertion (A) and the other is Reason (R) -
Assertion (A) : Narges Mohammadi was awarded

Nobel Peace Prize for 2023.
Reason (R) : She fights in the favour of freedom of
Press.
Select the correct answer using the code given
below — /
Code -
(a) (A) is false but (R) is true.
(b) Both (A) and (R) are true but (R) is not correct
" explanation of (A).
(¢) Both (A) and (R) are true and (R) is correct

(b) Only 2
(d) Neither 1 nor 2

M A dom Ry o ¥ Red ¥ ow @
AT (A) Toar 53R Y @Ro (R) wer T R
Ifwem (A) : e v i dRgd D
AT 1843 €, § W edtwree @
AR @ ufoms e
TRV (R) : W i &) grarm 2R e
A MR v gt wnfda @
@ faw @ 9
fa Ry 1 @ @ v e W I w1 g
anforg.
ai‘z —,
(a) (A) Treu © fang (R) arrem &)
(b) (A) 3 & fag (R) 3 &)

j}’wsﬁ? (R) &1 T & 3fR (R), (A) @ w8

91.

92,

93.

aR@ B 8|

(d) (A) 3fiR (R) aF @ & g (R), (A) & 5
IRA e Tl & |

Freferfera fam o yrsmg i sma @i -

o
s %4 '

2,315

@1 9 ¢ 2wV

31 (d) SwRraE # A FE T 0
1.7 22 R ©F

amafora faa mar «

2. AT ST ARA TR
A Ry g FE F WA FWRY

@-

(a) Bt | oAB) B 2

(c) 13fR 2 At (daa 1 A2

A < frg o & i /@ -

AR R FRA R)® - & —=;.

AfPe (A) : TG AEEE BT 2023 @ e

yifd R | wenfa far @i

FROT (R) : T8 U9 @) el @ 0 N Al & |

4 R Ty I T STA FRS WE I YT —

'ag\?_

(a) (A) 37 & fFg (R) ¥4 © 1

(b) (A) 3R (R) € g & g (R), (A) F Wel
arRan T BT § |

(€) (A) 3R (R) @1 & & 3R (R), (A) 1 T
aqRan &l 2|

. Z:]))l'an::on of(A): a J—)’(A)W 2 fb (R) 39 7|
ST RO GRS CR LT
\ w R
RNE SV reie

/
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, Given below are two statements. in whi
% IabcncdasAsscnion(A)und lh:::h::r: ;: I;{kh e s
Assertion (A) : The Bengal British lmli:l‘l“::: {R !
was founded in 1843 u r;\l:I:tl};
George Thompson's efforts e
Reason (R) : George Thompson was hﬂl;l}'hl o
from En-glund by Dwarkanath "I'u;-n:l:v
to organise the political mn\'mncn;
Select the correct answer using the code piven |,L.1;,“..
Code - |
() (A) is true but (R) is false.
(b) (A) is false but (R) is true.
(c) Both (A) and (R) are true and (R) is correct
explanation of (A).
(d) Both (A) and (R) are true but (R) is not correct
explanation of (A).

of. Find missing number in the following figure -

B O

(a) 1 (b) 26
(c) 31 (d) None of the above

92. Consider the following statements Wwith reference to

National Book Fair -

1. It was organized at Lucknow from September 22
to October 2, 2023.

2. It was organized by Government of India.

Select the correct answer from the code given below-

Code -
(a) Only 1
(c) Both 1 and 2

Given below are two statements, in which onc is
Assertion (A) and the other is Reason (R) -
Assertion (A) : Narges Mohammadi was awarded
Nobel Peace Prize for 2023.
Reason (R) : She fights in the favour of freedom
Press.
Select the correct answer usin
below -
Code -
(a) (A) is false but (R) is true.
(b) Both (A) and (R) are tru¢ but
" explanation of (A).
(c) Both (A) and (R) are
explanation of (A).

(b) Only 2
(d) Neither 1 nor 2

of

g the code given

(R) is not correct

rue and (R) is correct

90.

91.

92.

93.

A D dem fy oM 2 R d @ @
AT (A) TN GIR N RV (R) TE AR
sifvwert (A) : dma fafey gfsmm waEd A
W 1843 §, 9 sifol el B
warn w ufdemg o)
WYL (R) ¢ Gifol et @ g 2R §7ds
A wRa WA wiEE wnfa
@ v @ oa)
A Ru my ae B ogar w wE I
aforg: o
“::e —_—
(@) (A) e & g (R) 3 B
(b) (A) arre ® farg (R) ¥ 21
(A) 3R (R) & A 2 3 (R), (A) F A
aqan Rl ¢
@) (A) 3R (R) @i e & g (R). (A) # F@
2R e F e

Prfafera o i yeT_grEn o AR -

A
%Q %4 )

(a) 1 g < (b) 26 V
31 (d) ST H | T TE
mwmﬁmﬁ,ﬁmﬁﬁaﬂﬁuﬁm

faar Sfem —

1, g 22 foomaR 2 g,
amafera fawar T o

2.mwﬂmmﬂmmzmﬁrmﬂmmu

43 fog e A @ W@ SR IR -
R—.
AB) 7 2

(a) dad |

() 13R 2 2 (@@a@m1mA2

A T _Fr fro e &, Rrd R @ AfE (A)

AR S IRV (R) @ -~

aﬂmﬂ(m:mn‘rmcﬂmﬁzozsa%m#ﬁa
i QR Qs fdar T

W(R):aaﬁﬂaﬁmﬁma%wﬁasﬂ\a

mmﬂ@mwmquﬁu-

2023 TF TETH A

(@) (A) 3T & 5 (R)y ¥l i

(b) (A) 3R (R) A1 ¥H # frg (R). (A) @ W&l
e T8 B 8

(€) (A) 3R (R) QT T 2
@ oYl € |
(mméﬁr—gm)m%;

3R (R), (A)# ¥

7_|’5,‘5,"

| A) is truc i . 3 T T T T T 1|
e A IR O L

1
2 e

v5 ~ \8 )
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94. Consider the following statements with reference (o . T
Uttar Pradesh: afdr ‘§rl"\‘f| | AT B Ty
1. Ayurveda Mahotsava 2023 was organised in |,:3m_[ﬂ?.' wEed 2023
Jhansi. o | Tl TEAS, 3
2. Taj Mahotsava 2023 was organised in state capital, 2. a1 e 2023 e @

aranfara fsan ol T -
M g e 7@ @ wE IR A

Lucknow,

Select the correct answer from the code given below:
Code - e - % ar1 a2
(a) Only | (b) Neither 1 nor 2 (a) daat | 2
(€) Only 2 (d) Both | 2 (d) Iﬂmm 2
2 and 2 (c) #aa 2 v A fo
85. Match List-1 with List-I1 and select the corect 95 -] @ yM-11 A gafera @ Ffore: K

answer using the code given below: e 1 JATT F Ael I ol

List-1 List-I1 " -1 -1l

(Painting) (State) (Rrzard) (=)
A. Madhubani 1. Odisha A
B. Lepakshi 2. Maharashtra B. elueft. ~HERTS
C. Pattachitra 3. Andhra Pradesh C. zfira 3. o T
D. Warli 4. Bihar D. ara 4. faER
Code - e
(8) A4,B-1,C-2,D-3  (b) A4, B.3, C-2,D-1 :S:A—*i B-1.C-2.D-3 (b) A4, B-3,C-2,D-1

(c) A4, B-2,C-3, D-1 (d) A4, B-3,C-1,D-2 (c) A4, B-2. C-3, D-1 A4, B-3,C-1,D-2
96. Consider the following and arrange these in o fER aﬂ% ﬁmﬁ? 93d
2 3 arafteg Hifr :

increasing order of frequency : ; .
(D X-rays (I) Visible rays 0 -y an g fRe
() Infrared rays (TV) Radio waves (111 3ravae vl (fl\’) fean al
Seclect the correct answer using the code given below: e Ry T e T P S B
Code - >
HE -—
(@) IL 1L, IV, T (b) IV, IIL, 11, 1 @ ILILIV. 1 (b) IV, 1L 1L 1
(e) IIL IIL, IV (d L i1 v (¢) L 1L, IIL, IV (d) 111, IL, I, IV
97. Consider the following statements with reference o 97. SeR_ w291 wifig ACH  JdeN & Hed i
Uttar Pradesh Sangeet Natak Academy - Fr=fefra wom w far o —
(1) It was established in the year 1965. (1) S0 v 36 1965 3 g ofy |
(2) It is located at Varanasi. _ (2) 7% IR A Rerg @
Select the correct answer from the code given below- fr Ry 1o 3 ¥ 98 IR F ﬂF'W _
Code - ; RC —
(a) Only 1 (b) Neither 1 nor 2 (a) Baa | [ 48) T
1 )
(c) Both 1 and 2 (d) Only 2 (©) 13R 2 =) (d) Bae 2;“ 62
98. Which of the following statement/s is/are correct? 98. f=fofad Tem /o ¥ Py @
L. The sugar industry was initially located in Uttar g/&
Pradesh. L A S arey o g | Rerg
Il. The low yield of sugarcane, short crushing LT & a9 gyg &Y ;?:1;‘ ﬁm 3:;1:1 A
scasons, unsatisfactory location of industries KERIEMEG) slmmm‘ GFTIE?‘ | T
created problems in producing sugar. ' e & | A : i
Code - FE —
(a) Neither I nor IT (b) Only I (:) a1 A '
Il G Tore
(€) Both I and 11 (d) Only II 1R 11 2 ::; F '
9. Who was the first to use the word ‘Megapolis’? ﬁﬂmﬁﬂ‘ g 3
- BT e fery Rt
(a) Jean Gottmann (b) Taylor \Jif i Tifedy (b) 35 ?
(c) Davis (d) None of the above (c) fw d , .
@) ST + & w1 7@
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which one f’f tht? f.ollnwing i1 the correct s
adminisu'am‘c division dlll‘ing the Gupta \I"“Imhllw;L !
) Bhukti — Vishaya — Vil = Grama R
o) vishaya = Bhukti — Vi — (itillll.'l
(c)'Vilhi — Bhukti — Vishaya .
(d) None of the above

= Grama

{01 Consider the following statements with reference 1o
Schcdulcd areas -
1. The President of India notifies Scheduled areas
2. State with scheduled areas need to constitute a |
Tribal Advisory Council.
gelect the correct answer from the code given below-

Code -

100. = & @1 e apg_apefa e Remrer @
A BT 3

i — faua — &t — um
(d) fana — yfaa — &ifa — um
(€) @it — afar — fana — um
(d) Sudad 1 A w1

101. (5]-1 qm" !‘-‘Z_{l_f_ﬂ_i] t."l‘ !I ]-'{I-'“(,nrﬂ'd ;];pl;h' Ui mm

afor:

1w @t g arpfaa el @ afaegfaa s
T \
el

2, aryfad a4 9 Sl w1 e AaEai
yRE &1 TEA T ETE

#9 fau MU He § @l Iw gfy -

. y m‘:a —
(o) Neither 1 nor 2., (b) Only 2 (a) 71 @1 1711 &2 (b) @ad 2
() Both 1 and 2 (d) Only 1 1 3fiR 2 2l (d) @adt |

102. Consider the following statements with respect to
Directive Principles of State Policy:
1. They are not enforceable by the Courts.
2. It shall be the duty of the State to apply these
Principles in making laws.
Select the correct answer using the code given below:

102. g0 Afa FRys 7@ @ ot ¥, Frfafaa

FUAl W faar S

|3 =mrei gri wadera TE €
z.wmﬁﬁmﬂmmmw
Foa &l |
ﬁﬁ.’qmagwuﬁmmﬂﬁwgﬁq:

Code - - 7R - g
(a) Only 1 (b) Both | and 2 (a) @ad | 13R23M i
(c) Only 2 (d) Neither 1 nor 2 (c) @Tcl 2 ' (@)= d 1782
103. Match List-1 with List-II and select the correct  103.3(A-1 & gA-11 4 e @R e A fag
answer from the code given below - M e A e S g - i
List-I List-11 -1 & -
(Coal Based Power Plant)  (Located in State) (@ :muﬁa_ favieh wga) (9 :%ﬂ araferd)
A. Kahalgaon 1. Madhya Pradesh A. FEad . T
B. Khargone 2. Bihar ' B. @A 2. faEr
C. Korba 3, Karnataka C. HRdl ?4: FACD
D. Kudgi 4. Chhattisgarh D. e . BUNTe
(C‘),d:; B-1,C-3,D-4 (b) .A—I B-2,C4,D-3 Z:)C,;? B-1 C-3.D-4' (B) A-1,B-2,C-4,D-3
a) A-2, B-1,C-3, » B-2, L= 2,B-1, _
g, 1 B-1,C-4,D-3 -1,B-2,C-3,D4 A2, B-1. C-4,D-3
(c) A-1, B-2,C-3, p4 (d) A-2,B-1, C-4, (c) A : .._,..lm‘ e 08

108, mrren @ W

104. Consider the following statements with reference to L
coal - : | ' Py @ o S d 8§ 1@
l(.)alndia is one of the world's leading producer of 1'?‘?’ g 3
coal. \ ' - rkhand qqma‘;mssﬁ?mﬁwmﬁﬂmﬁm
2. India has vast coal reserves in states like Jharkhan "'EB fyairet SR 21
and Chhattisgarh. 3 e Fe A TE TN gfT:
Select the corrcf:t answer from the code given below: ::: -f-%q A
Code - ' ’ 1vd 2 (b) ®aet 1
(b) Only ! ud &
cyaal d) ®adl 2

(a) Both 1 and 2

9 a2 ( |
i OO0 e TR

[C.'ol] I, [ USSR
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for the first time in Ingia w

us - .
‘1’. Ccn;g the British era in the tenure of -

pufferin (b) | .
< pord “rd Lytton
:c; Lofd Mayo (d) None of the above

- oference 10 G-20 Summit 2023 i
ith : s 2 <023, which one
112.\'{5 following (Participating Countries - pq "i‘:il‘alm

as conducted

He od) is mot correctly matched?
(o Ngcntina — Alberto  (b) Canada - Justin
ustralia — Anthony (d) Brazil - Joko Wi
(c) A Albasiese oko Widodo
“ with reference 10 Preservation of Wildlife in India,

i .

which of the following statement/s is/are correct?

{. The wildlife (Protection) Act, 1972 provides legal
framework for the protection *of wild animals

only-
5 Project Elephant aim to conserve wild Asian

e {8 9 B 5 g o alt

- s

@Qﬁ’ﬁ 1 fafen @ i {iﬁlfl A AL
FraTa Qe ar oeorEn g Ul Pl
\

(a) i swia (b) @id fere

(c) wif #m (d) sy it A Fd A
112, 120 Forere w2023 3 el 3 Frefifd 3

A - (gfoe_aw—ufond giam) e

—_—

agifera 1 27
(a) ar¥&r — et M‘""‘ - wfte 73
LT B
(c) sifeferm — weird)  (d) arfid — ST
S IEIE
19, sy il @& vz @ wed #, Frefad !
Qa0 wua wdl 2/ .
|, g (i) P, 1972 1S
STl B R @ fog R Sfm e T
Y

elephants only. ;—(_-) st it
(s) Only ! (b) Only 2 M~ (a) 3 | (b) Bt 2
(c)BOlhlandz (d)NCilhcrlnorZ N (C)laﬂ'vl‘lﬁ‘l'rﬁ ’:I?hl?ﬂ't?l?.‘
1. The height of Ramesh is 5 feet. What will be et 114 i ) g s e &R A Fard T
peight of Ramesh in nanometer (nm)? €« 3§ Fra arf? ‘
(8 152.5x10" nm (b) 152.5x10 zm (6), 1525107 3Fivrey () 152.5x10" T
(@) 152.5%10° nm * (d) None of the abore 46 1525100 Ay () SR A I TR
i Tl
115. Which one of the following is the correct sequence of 115.2011 @ ¥Rd &) IO D Q@T@ﬂgﬂ%
States with decreasing population density according(:—j t%a GG ?'!TCRIT 1 et
1o the 2011 Census of India? - gl A 'é_ o
(a) West Bengal, Bihar, (b) Bihar, West Bengal, (\) (a) uf¥em ama ge mqﬁﬂﬁm
Uttar Pradesh, Kerala Uttar Pradesh, Kerala l:f') IR W, -l e
(c) West Bengal, Bihar. (d) Bihar, West Bengal, i (c) af¥er dmre, faER pa“:a W“Hﬂqm
Uttar Pradesh Kerala, Uttar Pradesh e, SO wel , ‘
Kerala, Ut . ._ 6. 4hm = oo i, 2023 & i @
116. Consider the following statements with reference {0 AR R —
India Smart City Conclave, 2023 - |z o 3R TE A @A
1. It was hosted by Indore city- 2 i aaiter Ry AE i gan Al
2. It was organised in the month of Sc"mf"cnriwlow?? A R g T W @ ST P
Select the correct answer from the code g1V N mE -
Code - e, (a) 13R 2 (b) dact |
(a) Both 1 and 2 (b) Only ! 5 XL T 2 @7 dm e 2
d) Neither 1 nor s ;D
(c) Only 2 @1 " pronological 1 -Wﬁ B e 8 4 @ S
11?.Amnge the following Acts I e the code m—aﬁﬂﬂ w
order and select the correct answer from i ﬂ;} sl
given below: ;!_) l“ Tt~ S{Gfﬂ"iﬁ'm” ! q' ' qa
L Lex - Loci Act : “'"aag:‘w"" & aff —\& i
I, Bengal Tenancy Act lc_"“\'l 111\1’ Trﬂ R ‘ )0 S
IIL. Age of Consent Act L5 e = e
IV.Inian University A< & >a) 1,1V, I 3R 11 IV, 1, 13 I
Cde - (b) [v 1 “ and “l A . L.
(a d 1l 2= v T
N Tty o, ALEDE T

(©1,mMand IV ™~
(Cop
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AR Y |
0 m‘ /ﬂ m . ﬁ
by LAt TP g Al W 39 Tl S g,
-man made Rub) & R q T B Fagsy
129, With reference to the first-n Js is/are comect? (H ;.’rar" q el rﬁﬂ'ﬂ' ﬁam fs ¥
hich of the following statement’s ¥ 5 ) wdl oY 1 WA R Sy N,
e of blu lig T ‘
(1) Ruby Laser produced pulses light A fag
(2) Ruby Laser produced p.uI.scs uf‘r:;c diven below: AR e
Select the correct answer using the ¢« % - S5 (b) 1 3R 2 2
Code - , (o) @l I (d) B3 |
(8) Neither 1 nor 2 (b) Both | and 2 (©) aad 2 4 qy‘{ﬁiﬁ aﬂﬁm wi 'ﬁu S
) Only | o0 quh-“ i
(€) Only 2 (d) Only L 130,301 ) S T
7
130 Match List-1 with List-1l and select the corree e w1 war -1
answer using the code given below: ‘ -1 Q=1 /B Wiy &
List-1 List-11 = (g—;‘q-q) 1. 3 W2y '
(Festival) (State/ Union Territory) A gifad .
A. Hombill Festival . Andhra Pradesh B < ol ; q]ﬁ]gq
B. Sangai Festival 2. Manipur . a1 qd 3. dq<r@
i ' C. IAEd 4. TS
C. Flamingo Festival 3. Ladakh Sy d .
D. Hemis Festival 4. Nagaland D. &
Code - a’:‘fAl B3,C4,D2  (b) A2, B-1,C3
(a) A-1,B-3,C4. p-2 (b) A-2, B-1, C.3, D4 (a) A- 'B oLD3  (d) Ad, 3-3.C-I.D.z
(€) A4, B-2,C-1,D3 (d) A4, B-3,C.1. D2 AL B-2,
131,

R BT/ D R
Which of the following is/are not 3 capital city/cities 137, fr=iferfaa § 9 Sk Sl LS,

1 ?
of any country in Europe? et Tl B /8 1. g %ﬁ a
I.Riga 2. Rotterdam L&m 2. v -

3. Zagreb 4. Zurich
Select the comrect answer

from the code given below: A Ry o ge 4 @ W@ ‘
Code - @ —- .
() Only | (b) 2 and 3 (a) Baa | \J’é’m ’
(c) Only 4 (d) 2 and 4 (c) daat 4 )ﬂ (d) 2 3R _?Q
132. With reference 10 primitive subsistence agriculiural 132, fen Frafes pf et & i P/
practices, which of (he pair/s is/are correctly el /e wh g/8?
matched? R vgfy &=
Agricultural Practices Region 1. gififr . i:iE‘m—q;é of¥r
1. Jhumming * South-East Asigy 2. fiye ‘ AfRTE
5 Ladon ! isttan o e
Select the correct answer using the code given below: A fr o2 9wl ST &1 a7 Fifere:
Code - we
(@) 1,2and 3 (b) 1 and 2 only (@) 1,23k 3 g,(lﬂéaa 13k 2
() Only 2 (d) Only | (c) Bag 2 (d) Baq |
133. Consider the following statements with reference to 133, “gifyury ST B wHef Pt ol ©
‘Operation Ajay’ - fRar -
1. External Affairs Minister S.lnishankarnnuuunced 1. fadey LEIR Y WviEy Y - i )
the launch of ‘Operation Ajay’. T 0 oy Lol 3 S
2. It was started (o bring back Indjans stranded in 2. 0% ~TT SoTEy
war-hit Israe], .]ﬁ;? T ¥ 7 Refrat ) o
T B forg gy fasar
Select the correct answer using the code given below: T Ry my T T Wiy
Code - e — 4 @ SR RIELS
(a) Both 1 and 2 (%) Only 2 1 3 > 2
. - b
(€) Neither I nor 2 (d) Only | (©) 7 1 a7 A 2 (b) By 2
[C-01)

(d) a}t'a 1
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o which one of the l'ullnu.m
1 s not correctly matcheq?

plll\l:\ﬂlt.ll. [mmmn}
(a) Article 124 -

Supreme Court 1o pe

ecord 4 Court of

H » 31 - \ i
(b) Article 132 - Appellate Juricd
Count Hrisdiction of Supreme
(c} .r\ﬂldf 143 . Al]\-i“,ry Jurisdicr; .
Court 1sdiction of Supreme

(d) Article 136 - Special leaye (o

Supreme Coun

135 yichhwai painting is
() Goddess Kali
(c) Srinath j/Krishna

appeal by the

associated wigl, which deity?
(b) Lorq Shiva

(d) None of the above
{36. Consider the following stutemeng with referenc
simon Commission — cto

1. It made two Visits to India,
2. Its second visit was from October 11,

13, 1930. 1929 10 April
Select the correct answer using the code given below:
Code -

(a) Neither 1 nor 2 (b) Only |
(c) Only 2 (d) Both 1 and 2

137. The missing number in 3, 8, 13,24, 41,70, .....
(a) 80 (b) 75
(c) 117 (d) None of the above

138. Which fraction comes next in the sequence?
1 3 5 7

2' 448" 167 \
(a2 (b) 12 b;
32 35 o
(c) 11 (d) 10
34 17

139. Which one of the following pairs (Institute - Place) is
not correctly matched?
(a) Indian Grassland and Fodder Research Institute -
Jhansi

(b) Indian Institute of Farming System’ Research -
Varanasi

(c) National Bureau of Agriculturally Important

Micro organisms - Mau .

(d) Central Institute for Research on Goats -

Makhdum

140. Which  statement/s
Curzon?

1. Establishing the English Empire on granite rock.

&

r‘"‘

qulm ET| w

L)Q}' Iqudy 124 -

(b) arury 132 -

g™ (I — T mjﬁ-ﬂ-; -

Hedam SN W
UTAN By
Jeuiy sy @ sl
sfrnfeen
(c) T 143 - Feram supran ) gy ufdm
(d) LedE 136 - Feery smuran @ 714 w6 L
fery fas gorora
135, fyward frawd B 2am @ wafam 22
(a) ¢ wreh (b) wrars faa
e ot / g (d) aurae § @ @rE =
6. 1A THIEA W el § fyeifarftaa weet w faan
o -
1. gL EL AR MR @ A faan |
2, g1 GO AR 11 Az, 19299 13 98, 1930
% @1 1]
AN fa0 MY FE B U T HEH I AT
ﬁ -

afvan .'

(@) 7 @l 17 &2 (b) Fae |
(c) Fae 2 (d) 1 3R 2 € o
137.3,8,13,24,41,70, ......... Hga w@mel " b
“(a) 80 (b) 75 m_‘/ »
() 117 I TR T
138. 3y ¥ arren BT FA—w T § 2
R 38
27131 (b) 12 55”941‘
3z 35
(c) 12 (d) 10
34 17
Prferflm g (dam — wor) # § #F-w1 0@
wf gfera € 2?2

ra)ﬂquﬂmmmﬂ—sﬁﬁ
o) e G gomedl srpET W — AR -
(c) wfy oft Sugrhl gerehe o - w5

|y BT TH SR HRH — g

is/are true regarding Lord @HﬁmﬁﬂﬁmﬁWW/ﬂmmé/ﬁ?

1. IS WEy H AAEe @ gCeH W wRifud

2. Announcement of Calcutta Corporation Act. 2. ag:?:l s & argon
g\j ?;::iu the correct answer using the code given below: :ﬂﬁ ﬁm M FE $T T4 D Wel SR G
e-
(a) B (b) Neither 1 2
B Jdnn omere
_ ' Y

o ) |
(Cony e oL Nk L HTNTTTN

&.4)

S
L.-J \ - 4

2%
© éxluﬁ}/huA

N
—
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AfeTa 7
11a-ﬁwmam@ﬁﬁﬁqwﬁ?qﬁﬁb

118. Which of the following pairs s not correctly

matched? 7
(8) Adam Smith - Wealth of Nations (a) ven ey — deol m@ﬁﬁﬁm |
(b) J.M. Keynes - General Theory of Employment, (b) YW, W — SARE qus A
Interest and Money T hin :
(€) Gunnar Myrdal - Asian Drama () T=IR =ydel — Qﬁr"ﬂ it uifafedma gpAm
(d) Karl Marx - Principles of Political Economy and Jfﬂ:‘lﬁ areRf — AR
Taxation

119. Which statement/s isfare correct regarding the book 119, “fRra—u—

*Mirat-e-Sikandari*? FuE A £ /87 e @ IS @
(1) There is a description of (he happiness and (1) 39 ORI @& mi L '
prosperity of the Kingdom of Sultan Mahmud ‘ﬂ'@—ﬂﬁﬁi’ Gl Sfara v
Begada of Gujarat, (2) g amqiRe wFT 61 GRE BT 7l
(2) There is a description of proper arrangement for quig 2| -
the security of trade routes, 1 e v fe Bl AT FRH{E ST DT T
Select the correct answer using the code given below: -
Code - He —
(a) Only | (b) Neither | nor 2 (;) Had | (b) =1 < 1 71T € 2
(¢) Both 1 and 2 (d) Only 2 | afr 2 i (d) Baa 2 _
120. Which of the following Manganese producing areais 120 fipy & 9 Fe—ar Mm d i
not located in Karnataka? Rere = 27
(a) Bellary (b) Chikmagalur (a) doerdl (b) TR
() Shimoga (d) Srikakulam (c) R \(jg.ﬂ HBTHeH
121. Which of the following country/countries is not part @ G A E -1/ 29 3Ra_TEEY @
of the Arabian Peninsula? E;ﬂ,lﬁﬂ ar
I.Oman  2.Jraq  3.Kuwait 4. Syria" 1. 2% 3.gaa (4. Ra
Select the correct answer from the code given below: i ey o T 4 W 98 IR T
Code - HE —
(a) 2 and 4 both - (b) 2 and 3 both (a) 2 3iR 4 2= ) 23R 3 gMY
(c) Only 4 (d) Only 1 ygjﬁ_qa_g_ d) B3 |
122. Which one of the following Payloads was used in 1 * I3 B ¥ T SR verg ® I~ T
Chandrayaan-3 Mission to determine the elemental A iR e @ TfeTd. HaoE (Mg, Al Si, K,
composition (Mg, Al, Si, K, Ca, Ti, Fe) of lunar soil Ca, Ti, Fe) @1 ey ey o fore frsr o @ |
and rocks around the lunar landing site? Udls wa faay T op?
(a) ILSA (b) LRA (a) ILSA (b) LRA
(c) APXS (d) None of the above (¢) APXS (d) SwiTw & § g T
123. Match List-I with List-II and choose the correct  123. -1 BT PRI Tl D oy 1 Ry
answer using the code given below: . TV 6T W 9E) 9w B (E1
List-I List-II -1 -
(Banks) (Year of ﬁﬁ) 11
: Foundation) (o )
. A. ZTETaTE §% 1.1874-
A. Allahabad Bank 1. 1874 T Yo o
B. Punjab National Bank 2. 188] B. Yoire 2. 1881
C. Awadh Comimercial Bank 3. 1865 C. 3 Faidfae ?ﬁf 3. 1865
D. The Alliance Bank of Shimla 4. 1894 D. < 3l 3% it frrem 4. 1504
Code - T —
(@) A-1,B2,c.3,p4  (b) A3,B4,C2,D-1 - - (a) A-1,B-2, C3,D4  (b) A3, B-4,C-2. D.1
- (€) A-2,B-1,C3,p4 | (d) A4,B-3,C-2, D (¢) A-2,B-1,C-3, D4 yAQ) A4, B-3, C-2, D-1
[C-01] Page 26 of 32 T
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124. With reference to the Marine P .
| roducts

Development Authority (MPEDA), which EFP:?F

following statement/s is/are cnrrccl?. 5

1. MPEDA was established in 1972

2. Itis headquartered in Kolkata,

Select the correct answer using the code given

below -

Code -

(a) Neither I nor 2 (b) Only 2

(c) Only 1 (d) Both | and 2

125. Match List-I with List-II and s
answer from the code given bclgw?clm the correct
List-1

List-I1
(Schemes) ’
A.PM. Garib Kalyan Package " nehing Year)
+ B. Muskan Scheme 2. 2020
C. Mission Indradhanush 3. 2018
~ D. Pradhan Mantri Jan 4.202]
Arogya Yojana B
Code -

(a) A-2,B4,C-1,D-3  (b) A-3,B-1,C4.D-2
(c) A4,B-3,C-2,D-1 (d) A-1,B-2,C-3, D-4
126. Given below are two statements. One is labelled as
Assertion (A) and the other as Reason (R) —.
Assertion (A) : Accounting is the language of
business.
Reason (R) : Accounting provides all information
needed by a businessman,

Select the correct answer using the code given below-

Code -

(a) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(c) (A) is false but (R) is true.

(d) (A) is true but (R) is false.

127. Kidney stones are formed due to -
(a) Deposition of Fat (b) Crystalization of

&

Oxalates
(c) Precipitation of (d) Deposition of sand
Proteins particles

128. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason
(R) -

Assertion (A) : The colour of Red Soil is due to the
qde dilTuston of iron rather than
ig yportion of it.

Reason (R) : They are generally poor in nitrogen,

phosphorous and humus.

Select the correct answer using the code given below-

Code -

(a) Both (A) and (R) are true and (R) is correct
explanation of (A).

(b) (A) is false but (R) is true.

(¢) (A) is true but (R) is false.

,1 e
W
A=/ T

;. MPEDA %) 39191 1972 & w4 of) |
. BT Ty FTe | ;-1
M Ry 70 72 /1 T afy —

e —
(@12
(c) @adt | (d) 1 amz 2 =5

125. -1 1 -1 9 wafera Ao oo @ fae
Ty e A M 9 gfae

(b) Fiaa 2

-1 11
| ‘ (s @)
A. WA A ST e 1.2014
B. W& WM 2.2020
C. 17 3 . 3.2018
D. WA A AR ST 4.2021
*E —

() A-2, B4, C-1,D-3  (b) A3, B-1,C-4, D-2
A<4,B-3,C-2,D-1 (d) A-1,B-2,C-3,D4
1267+ 1 weM Ay My & | te @ e (A) i
TR & BRI (R) FEN 741 & —
AFFYT (A) @ TEEA 2AEM 9T 2 |
R (R) : d@id TG gR1 HEAE T4
A W& Bl & |
A Ry M He & YA TG FqE IR & qGA

iﬁt\E_

(a) (A) 3R (R) 3T ®g & f&H= (R), (A) @ |
& TE |
A) 3R (R) a1 W & 3R (R), (A) @1 T
a2 |

(c) (A) Iy 2 fg (R)Wg )

(d) (A) F@ & f=g (R) s &)

127. 1 fha® ®RY a9 87
(a) T91 ®71 WG JfeaTee &7
IERSGIER
(c) Wi &1 s@Emy  (d) ¥@ & @O F1 oHE

A T Ry M L RER W @ @
HHUT (A) IR TER B FROT (R) FET 741 & —
AU (A) : Ta B &1 37 R @ 9=

T aud ID AAD JTOR B FROT el &
FROT (R) : T7H AHAR TR A=4a14, HEHRY, AR
T @ T B 2

M Ry 1w T ¥ wd e gfig -
Te

(a) (A) 3R (R) a1 U & 3R (R), (A) @1 T8 4

AT Fl E | (g
)Jm’(mm%faﬁ(mm?l -

(c) (A) W 2 fobeg (R) e B y
(d) (A) 3R (R) T w1 € f5g (R), (A) B

(d) Both (A) and (R) are true but (R) is not correct e T8 oY | ( \
—______explanation of (A). T _;'
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105. Maitch List-1 with List-Il and choose the correct

105. 37efl-1 & -1 9

answer using the code given below - M He A WE IR . -1
List-I List-11 -1 ) 0 3)
(Important Days) (Date) (qmtpf feaw { 0
A. World Population Day 1. March 03 A. fazg sreian fead 2. -,_—Ela-rg 11
B. World Wildlife Day 2. July 11 B. fva gwofia faaa " 3. amd 07
C. World Ozone Day 3. April 07 . R e Raw 4. faar 16
D. World Health Day 4. September 16 E“j‘ D. fva wren fRad '
Nrgd N e - -1,B-2,C-3,D4
(a) A-2,B-1,C-3. D4 (b) A-1,B-2,C-3. D4 ::j (a) A-2, B-1,C-3, D4 ::; : : B3 C4 D2
(c) A-2,B-1,C<4.D-3  (d) A-1, B-3, C-4, D-2 A2, B-]. C-4, D-3 1B 02
106. With reference to the “Great Barrier Reef”, which of 105 e aftw - @ e §, frfafaa 4 ¥
the following statement/s is/are correct? ifm—?ﬁ?ﬂ%’ T2/ 27 : 2
I. It is situated along the north-easten coast of |, 7E gl @ 'G?T'\"'Tﬁ e W 2 !
Australia. > o £ 2500 fariTATER | Ifw 2
2. It is more than 2500 kms in length, —h ‘ﬂ‘ﬂ fRu v we A FE) IR 1 9T o
Select the correct answer using the code given below: & e — AR _
o) Noi N @adimaz M 1R
(a) Neither 1 nor 2 (b) Both 1 and 2 ~ @Faria d) 37 |
(c) Only 2 (d) Only | o (o) @Ead 2
107.1f the day before yesterday was Sunday, what day —107. 7f¥ 7 foa @ ¢@ f27 qd AR o1, A & 3
will it be three days after the day after tomorrow? % for qvam @ @ fad geErd A a1 &= g
(a) Sunday (b) Monday 4 (b) HIHAR .
(c) Wednesday (d) None of the above %) TR (d) SWRIaT H | PIE T
108. Given below are two statements, in which one is {)108.91 37 T fRy Wy B fOEd 9 G &

labelled as Assertion (A) and other as Reason (R):
Assertion (A) : A condition is a stipulation which is (_,\lo
essential to the main purpose of the contract, ~
Reason (R) : A breach of condition gives a right to
claim damages and not a right to
repudiate the contract,
Select the correct answer using the code given below: —
Code - o
n
(a) (A) is true but (R) is false. N

explanation of (A).
(c) Both (A) and (R) are true and (R) is correct

—

(b) Both (A) and (R) are true but (R) is not correct ("::1' E/b)

o (A) 3R ER B SRV (R) HET TAT &
FFFYA (A): TF I AT B A Fevd D fony
IS U I 8|
BRI (R) : Id (& Iooig= P TE1 FH
&1 IfER <o 2, T 6 ey @
FAER T BT ADHR |
R Ry 10 3 &1 sua wva 9 SR I T

E‘:c_
(a) (A) ¥ & fg (R) arreg 2

(A) 3R (R) AT T & R
bl ok 53 (R). (A) # w8

(€) (A) 3R (R) 31 W= ¥ aik (R), (A) & W&

explanation of (A). e ¢
(d) (A) is false but (R) is true. (d) (A) argeg 2 5 (R) @ 2
108. The cause of “Minamata” disease is - 109. “framrer em @y BROT g —
(@) Cadmium polluted,  (b) Lead polluted water g .
water T a (@) B wefha T (0) s wef o
(c) Mercury polluted  (d) Chromium polluted WRE Ui Fifras Wi
water walter a : ._,(9’ @ bl
110. With reference to the mechanical properties of solids, 11031 & 7if¥& wojj T 3§, frafyRag '
which of the following statement/s is/are correct? EEEE /A W R /&2 A W
(1) The Young's Modulus of rubber is greater than (1) YR &7 gy RIGT . Tor
that of steel. : &l il Hﬁ‘ 7 aifer €
(2) The stretching of a coil is determined by its Shear 2) f5 e B o Rag IS
Modulus. —_ & AR E‘ﬁ'[m';| STy Tond &r
(a) Only 2 (b) Only 1 (a) Bad 2 (b)
() Both I and 2 (d) Neither 1 nor 2 (c) 1 3R 2 <M P |
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84. With reference to Tulsidas, which of the following
statement/s is/are correct?
1. Tulsidas was born in a village named Rajapur in
Banda district,
2. His wife's name was Geetawali,
Select the correct answer using the code given below:

Code -
(a) Only 2 (b) Both 1 and 2
(c) Only | (d) Neither | nor 2

85. If a clock gains four minutes every hour, the angles
traversed by the seconds hand in one minute will be-
(a) 360° (b) 360.5°
(c) 384° (d) None of the above

86. Match List-I with List-I1l and choose the correct
answer using the code given below the lists -

List-1 List-I1

A. Article-26 1. Administration of Union
Temitonies

B. Arnticle—<0 2. Secretariat of Parliament

C. Anrticle-98 3. Freedom to manage religious
affairs

D. Article-239 4. Organisation of Village
Panchayats

Code -

(a) A-3,B4,C-2,D-1 (b) A-3, B4, C-1, D-2
(c) A-3,B-1,C-2,D4  (d) A4, B-3,C-2, D-1
According to the 2011 Census of India, the
percentage of India’s urban population was -

(a) 30.7% (b) 31.2%
(c) 31.8% (d) None of the above

88. Match List-I and List-II and select the correct answer
using the code given below —

87.

List-I List-TT
(Mountain) (Continent)
A. Andes 1. Europe
B. Altai 2. North America
C. Alps 3. Asia
D. Appalachian 4, South America
Code -

(a) A-1,B-3,C4,D-2  (b) A4, B-3, C-2, D-1

(c) A4,B-3,C-1,D-2  (d) A-3, B4, C-1, D-2
89. If in a certain code, CORPORATIONS is written as

PROCTAROSNOI, then how is JUDICIAL written

in that code?

(a) IDUJLAIC

(¢) UJIDICLA

(b) UIIDLAIC
(d) None of the above

M.gmﬁtmiﬁv-‘d‘?ﬁ-“ Mﬁi

F—m /@ w 2/¥ TR e
l.qmﬁ?{maﬂwﬂ““” i e
™ H I >l
2.umﬁnz=ﬂanﬁm’ﬁﬂﬂ?‘nml_
1 fy o e @ T I I
e - 3R 2 QI
5 (b) 1

‘J(:;,:\E; (d)q?ﬁlmﬁ2
as.qq;qmmmdéxnﬁvmmﬁgmﬁﬂ?-ﬁ
w e A s @ gE EN T b
-,‘11.]1‘_ .
@) 360 (b) 360.5°

(d) SWE H A B 18

384°
ss(il‘gn_raﬁrgzﬁ—uﬂ‘i‘ﬁmmmmm
A3 Ry e g @1 AT FR FE I Fh

\%_{x_}_ B4,C-2,D-1  (b) A-3,B4,C-1,D-2
(€) A-3,B-1,C-2,D-4  (d) A4, B-3,C-2, D-|
87. @ @ 2011 F T B ITEAR, WRA )
TR FHeE &1 ufaera or —
(a) 30.7% (b) 31.2%
S531.8% (d) SR & & g 7

88. i1 7o -1 B ifera BRI e A Ry
T HE | Wl IR gRw —

-1 -1

(k) (reTé)
A. TSI . R
B. 3T 2. I 3R
C. I 3. WRnr
D. 3eifirg 4. TR spiRey
Hc —

(@) A-1,B-3,C4,D2  (b) A4, B-3, C-2, D-I
J" A4.B3.C-1,D-2  (d) A3, B4, C-1,D-2
8.1 R @ 4 corporaTIONs @

PROCTAROSNOI & %y #
@IS 7 JUDICIAL 3% fagay Egn;m LRA

IDUJLAIC (b) UJI
(c) UJIDICLA (d) thﬁ[:;‘qA;C QA B -

[C-01]
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gich List-T with List-1l apg .

6 M wer using the code given bc[u‘:;w the correct
v 8 |
{;,is:ne of Academy) “:u'::‘:l
A Rajya Lalit Kala Academy, h“"';} i‘;i:;::‘"“' ll A
et n
p. Uar Pradesh Sangeet Natak 21975 O
Academy, Lucknow ( !)
C. Bhartendu Natya Academy, 31963
Lucknow
p. Ayodhya Shodh Sansthan, 4. 1962
Ayodhya
Code -

) A4,B-3,C-2.D-1
(c) A4, B-3,C-1.D-2

(b) A-3, B4, C-1,D-2
(d) A-3, B-2,C4, D-1

—

@ -1 7 G- A gAfera A wen o v

e N ad I g -

-1 -1
(ramedy @ 1) (zeareeT )

A. o fere well srdTatie 1. 1986
AT

B, IR waw vifia wes 3‘_<I‘J75
AmTE), ST

C. RA7g AAren 3fnTeH) 3. 1963

D. 31y Y [, 4. 1962

are
moa -

A4, B-3,C-2, D-1
() A-4, B-3,C-1,D-2

(b) A-3,B4,C-1,D-2
(d) A-3,B-2,C4,D-1

§9. Given below are two statements, in which one |sn 69. la A fﬁﬂﬂ‘ fov M ¥ Wq;; wq:;m
labelled as Assertion (A) and the other as Reason (Rj;jj AfHU (A) m T iﬁ as;w TR) mﬁﬂ-
rtion (A) : The Constitution vests the Executive . af@eE (A) : wfur, qE 3 _‘&“'ﬁ:'a” s
A ion i i = W @ wegafa # g Far gl
Power of the Union in the F’rf:SIdcnl of India. (R) : 51 1 T A e
Reason (R) : The President of India is the SR (R) - e &) ALY
Consliluliqn:l-l Head oflhe.Slalc. . 4 fe o TE @ W AR & I T T
Select the correct answer using the code given bc:lowz : o
Code - _ h =iy A | .
(a) Both (A) and (R) are true and (R) is comedhy  (q) () g () ZF1 W & SR (R). (A) A
explanation of (A). . €O e e 2 | Pl
(b) Both (A) and (R) are true but (R) is not correct-+ (b) (A) 3R (R) 2mi W € &g (R). (A)
explanation of (A). ' @ 8 :Fi'ﬁl 2l ;
(c) (A) is false but (R) is true. | ‘/‘q (A) 3G B ﬁ@ (R) §d : |
(d) (A) is true but (R) is false. (d) (A) we # g (R) 30 & et
- A bl whi 70 anfrer 3 R SE-uoT :
70. With reference to ‘Victoria Falls in Africa’, which oL s 3 BT/ & T R 8 /8
e following statements isfare comeet? S o oy sie s 2 e o e 1
I. It is located on the border of Zambia ang’J » 7 e T R R B
Mozambique. ‘ a.‘, mm@@mmm@mmm
2. Itis situated on Zambezi River. . A AT :
Select the correct answer using the code given below: i
Code - (@) @ 1 1 3l 2 3
(8) Only 1 (b) Both 1 and 2 () 3 2 (@ a1 a2
(¢) Only 2 . to the north. 71. diw AT WA, e Lo s, w1 AR
™. From his house, Lokesh went 15 km R a8 TR A 3R =T L
Then he tuned west and covered 10 kms. Then he a8 <o A 3R 791 AR S fo5 . aa| 317':% 0
turned south and covered 5 kms. Finally l.““““g ‘o ) R TR, Ig 10 frA. & g0 T Dl
east, he covered 10 kms. In which direction is he from W H %?) e
. ' (b
his house? . (a) 7@ 5 i o
(a) East (b) West ) hcabc;vé" (
‘ " [t
(¢) North (d) None 0 . N |
R VAT
01] ,
— L il .
s K [::}
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54. Match List-1 with List-II and choose the correct 54.
answer using the code given below —
List-I List-11
A Current Assets
(A) Merchandise (h Current Liabilities
Turnover
] Liguid Assets
9
(B) Current Ratio  (2) Current Liabilitfes
) Net Profit be .
(C] ‘.\cu] Test (3} e ofit before Interest & Tax
. Total Assets
Ratio
. Cost H
(D) Gross Capllal (4) ost of Goods sold
Average stock
Employed
Code -

(a) A4, B-1,C-2,D-3  (b) A-2, B-1,C-3,D-4
(c) A-3,B-2,C-1,D-4  (d) A4, B-3,C-1,D-2
Which among the following is the correct order

©

e @ g aferd AT
#e ;\I;rﬂ IR gfT — -
-1 q-rdﬂlﬂﬁ'
_...--"'"—-
(A) Tt (D “ﬁz:tf::;ﬂ
Gl
(B) wre], 3T (2) g a'rfﬂf‘f-ﬂ a
g v @ A qE EN
(3} b G wafa
(C) 3l uvd Jrurd .
g wd awg A &M
(D) bl faﬁlﬁf?ﬁﬂ q‘ﬁﬂ (4} i wEA
T —
) 2 B-1,C-3,D4
(a) A<, B-1,C-2,D-3 (b) A-2. B-1
' (d) A4, B-3, C-1.D-2
(c) A-3.B-2,C-1. D4 _

RN 1 L

55.
L H-a1 27
mentioned in Preamble of the Indian Constitution? _AB) <rrorard) ver—fARYeL, ol g L
(a) Socialist, Secular, Sovereign, Democratic ' i AT g fAaRae,
(b) Fpqef sged I Ao
AHaATCTE

(b) Sovereign, Socialist, Secular, Democratic
(¢) Secular, Socialist, Sovereign, Democratic
(d) Sovereign, Secular, Socialist, Democratic

. Which statement is correct about Panchayati Raj?
(a) The Panchayat Samiti and Zila Parishad are
constituted with directly elected members.
(b) Minimum age is 18 years to contest the election

at the Panchayat level. -
(c) Election of the Panchayati Raj Institutions is

conducted under the supervision of the State
Election Commission.

(d) None of the above

With reference to “AGMARK", which of the

following statement/s is/are correct? ‘
1. “AGMARK" is the sign of quality of agricultural

57.

2l

(d) SR ¥ Q B8

& gy ¥ frefafRea suE 9 @
FHA-G1/Q 9 /87
1. "qErE” B Seare @ urE] & JAah €|
OIS BT YAVI-UH WRA™ @ A g w

products. ol 4 by Food "
2. Centificate of “AGMARK" is issucd by -
Corporation of India. : W fobar @ #1
Select the correct answer using the code given 41 Ry 7 gE ¥ 7 I g -
below- - ‘
Code - 1 3R 2
(a) Both 1 and 2 (b) Only 1 (c) et 2 Gl (b) Faet 1
(c) Only 2 (d) Neither 1 nor 2 | adar1rd2
58. With reference to Uttar Pradesh, which of the 58 I e @ "ol # Prefafaa wemi A @
following statement/s is/are correct? DF-HT /W W ¢ /82 s
1. Uttar Pradesh is divided into 9 economic regions. ; Sl gj!;[ 9 anfdis & F de1 2
2. Uttar Pradesh has 11 agro-climatic zoncs. ﬁmg'q :r& 411 PR-eraryg & ¥
Select the correct answer using the code given below- ’ Y B[ P W4T PN ﬂa IR 1 T4
Code - FT -
(a) Both | and 2 (b) Neither | nor 2 @) 1 3l
2
(c) Only 2 (d) Only 1 (¢) B 2 Rl Vﬂ’f?ffﬁtmaz
[C-01) Page 14 of 32 el iSaa} ' S
R
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29. Ma[ch List-1 with List-T and select

51.

answer using the code given below.. the correct
List-1 List-1]
(0il Refineries) (States)
A. Barauni 1. Assam
B. Bongaigaon 2. Bihar
C.Bina 3. Gujarat
n. Koyali 4. Madhya Prydesh
Code -

(8) A-2, B4, C-3,D-1
() A-1,B-2,C-3,D-4

(b) A-3,B-1,C4, D=2
(d) A-2,B-1,C4, D-3

equal to -

(8) 0 (b 1

(€) b (d) None of the above
y

Consider the following statements with reference to

“Nandini Krishak Samriddhi Yojana" -

(1) This scheme includes milch cow breeds of
Sahiwal, Gir, Tharparkar and Gangatiri only.

(2) Beneficiary must have at least one year of cattle
rearing experience.

Select the correct answer from the code given below-

Code - -

(a) Neither 1 nor 2

(c) Only 1

(b) Only 2
(d) Both 1 and 2

52. 15 bulbs each of 200 watt capacity in a Silkyara

tunnel are illuminated continuously for 24 hours. The
consumption of electricity will be -

(a) 71 units (b) 72 units

(€) 73 units (d) None of the above

- Consider the following Mughal Emperors and

arrange them in chronological order :

() Furrukhsiyar (11) Jahandar Shah

(Ill) Bahadur Shah (V) Muhammad Shah
Select the correct answer using the code given below:
Code -

(@) 1, 1, 1, v
(©) Iv, 11,1, 111

(b) 1, TV, IL, TI
(d) 1, 1, IV, 1T

e —

89. -1 @ -1 @ il DR @ A R

T FE WA I g -

-1 A1
GERICERIE1) ()
A. T8 ~1, IH
B. @imdiia T2 faeR

C. 4w ~_ " 3 Tm

D. el " 4, WA Y3

E'E -

(a) A-2, B-4,C-3,D-1  (b) A-3,B-1,C4,D-2
(c) A-1,B-2,C-3,D-4 Vw A-2,B-1,C4,D-3

a y_ L5 h
gty =land SHo=1then 245 winbe (B)aR 24i=1ak24Z=12 @ l+s ww
a z h b y ¢ a z

'&-;T‘ﬂ—
(a) 0 (b) 1
(c) b (d) SuRrad § A g T8

y
51. "qﬁﬂﬁmwﬁuﬁw"%ﬂ'—aﬂﬁﬁrﬁmﬂ

FAl R R Sifvw -

(1) 39 T # dad aeard, R, YRIRGY 1@
mmhﬂmﬁﬁwwrﬁﬁﬂﬁqﬁmaﬁ'ri
g

(2) el & T MATE B $F | TF Th a4 Bl

A B AT | ars >
MRz s - w & |
e - od-_?ﬂ#
(@adi1&2 ﬂa‘raaz hb
(c) @aa | (d) 21 1 3R 2

52. v RIGHART TN A _200 dfc & @ 15 T

AR 24 W @ A R o # ) e @

@va el ?

(a) 71 gfe l/w)/?zqﬁz
(c) 73 gfe (d) SR ¥ A I TE
53. Preififaa el R R R R @ ST
arafterd HIT
(1) FETRTR (I1) STEER E
(111) 9BT3R MME (IV) Jewic e
$ra R g g § T IW AT

q‘z —
(a) L IL 1, IV
(¢) IV, IL, I 11l

(b) LIV, I I
(d) L, 1L IV, 11

C-01] Page 13 of 32
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40. Consider the following events and arrange them in

Al

"2»

chmnologicnl order with the help of code

bc]o\h’:
[ First phase of Bank Nationalisation

1. Secnnd phasc of Bank Nlllilillillis:llinn

{11 Establishment of Regional Rural Banks

[v. Establishment of NABARD '

Code -

(@ IV, I, 1L 1 () 1L, 11,1, 1v

(¢ LILILIV ) L1, v, m

PIN in banking transaction is known as -

(a) Postal Index Number (b) Permanent
Identification Number

(d) None of the above

given

(c) Personal
Identification Number

Which one of the following organisation declared
Varanasi its first Tourism and Cultural Capital in
20237

(a) Shanghai Co- (b) G-20
operation
Organisation (SCO)

(c) ASEAN (d) UNESCO

. Given below are two statements, in which one is

labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : Saline soils in India are not
appropriate for cultivation of crops.
Reason (R) : Saline soils have high proportion of
salt, largely because of dry climate
and poor drainage.
Select the correct answer using the code given below:
Code -
(a) Both (A) and (R) are true but (R) is not correct
explanation of (A).
(b) (A) is false but (R) is truc.
(c) (A) is true but (R) is false.
(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).

+ With reference to the Burhan-ul-Mulk Saadat Khan,

which of the following statement/s is/are correct?

(1) Saadat Khan was the founder of Independent state
of Awadh.

(2) He took part in the conspiracy against the Sayyid

Brothers. _
Select the correct answer using the code given below:

Code -

40. Py=fafea vemsl W AR AR qen gFH R

fau wmu ge @1 Suan WA FY FEHAIIR

araftera Ao 4
(pe)
-

B T A TEIT TG TR
I 41 @ WLIEIV @ G R
1 e afior d@7 @ e —
IV, Sard @ e — 14¢%

E':"\E -
@ IV, ILILT S~ O LI LIV
: #’l;y_l'._ll. v (@) LIL TV, I
A @ a-ad i fE (PIN) @ sifwra @ -

"(a) inea gea AR (pY WA
FEACAR T e i LO B
(¢) wiret argfeftaee (d) Sudad # 4 TE A

TR

42. Preffaa 4 @ fra <imes 3 ad 2023 3 aRoRA

1 R yeeh wdes ok aigplas g aifga
foman?
giare @ wea  (b) 9i-20

(va.¥0.30)
(c) anf¥am (d) T

0. 43 @ o Ry m ¥ REM @ @ @

e (A) R @R BT BROT (R) FE1 T E ¢
aﬁmm):mﬂﬁaﬂnﬁaﬁ@maﬁ@m
& forg Suge el €|
W(R):mvﬂuﬁﬁﬁwaﬁwaﬁ}mm

2, Rraer [@ SRY P Faay HR
@R o e
ﬁmmwﬂﬂﬁmmwﬁrﬁm
m‘\z.—
(a) (A) 3R (R) A W & g (R), (A) B e
aEn E vl B
(b) (A) 3l & g (R) Wl &1
(©) (A) W & g (R) IR 2|

wcmmanv (R) 2l wa@ & 3R (R), (A) B wE

Ra Bl €
44, REF-IA-TH_BIRD_TH D wd #,
Wﬁa—m/ﬁ wel

2/ ; :
(|)W$WWWWHWW

ol |
(z)aﬂﬁﬁmaqaﬁakmwﬁaﬁ%mﬁm

ol |
£ fRu MU g BT AN T T IR B A

PTY
& —

(a) Only 2 (b) Both 1 and 2 (a) Bt 2. (b) 1 3R 2 2
(¢) Only 1 (d) Neither 1 nor 2 1 CEEIR KR
o e s LT
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23. Match List=I with List-11 apg select the correct
answer using the code given below:
List-1 List-11
(Dance) (State)
A. Bharatnatyam 1. Tamil Nadu
B. Kuchipudi 2. Uttar Pradesh
C. Sattriya 3. Andhra Pradesh
D. Kathak 4. Assam
Code -
(a) A-1,B-3,C4,D-2  (b) A-3, B4, C-1,D-2
(¢) A-1,B4,C-3,D-2  (d) A-1,B-2, C4,D-3
Consider the following statements with reference to
Charkula dance of Uttar Pradesh -
1. Itis a dance performed in the Awadh region of
Uttar Pradesh.
2. In this dance, veiled women balancing large multi-

24.

tiered circular wooden pyramids on their heads
dance to songs about Krishna.
Select the correct answer from the code given below:
Code - “
(a) Neither 1 nor 2
(c) Only 1

(b) Both 1 and 2
(d) Only 2

23. g1 -1 9 ifera @R @ A Ry T
de &1 ARl IR gh

-1 -1l
(77) - ()
A VREFTEM —%l. affeirg
B. wfagd b IR e
C.uAu . ATA WeY
D, T . 3R

Jqﬁl B3,C4.D-2  (b) A3, B4,C-1.D-2
(c) A-1.B-4,C-3, D2 (d) A-1,B-2,C-4.D-3
24, g-nma‘.mmqmz%wwﬁwr&wma
T R AR aien —
|, UE IR WSV B 3ay &3 A fEm 9w
2|
2,59 e N, val g afeard aw RR W 73
Wgzaﬂurﬁamwamé’!a%ﬂmﬁ@mﬂgﬁa
¥ & 3R gum @ Mol | J@ F 2
mmw@ﬁaﬁwmmﬂﬁﬁu—

R_
() = @t 1 €2 (b) 1 ¢d 2 A
(¢) Faa | AM) Fae 2

25. If the 25 of October in a year is Thursday, the  25. af¥ feft mnf # 25 SfagR P AR &, 1 9 e
number of Mondays in that month is - 95 ) B Rilc i o) et &ri?
(a)3 (b) 4 =0 @3 (b) 4
(€)5 (d) None of the above [/ “‘C‘f 5 (d) SR § | FIE A
26. Given below are two statements, in which unc“is 1 26. 419 =1 oo 2w T £, R ta &1 Afi@erE (A)

labelled as Assertion (A) and the other as Reason (R)-

Assertion (A) : The norther slopes of the Himalayas
have a thicker vegetation cover
compared to the southern slopes.

Reason (R) : Southern slopes of Himalayas receive
more rainfall than the northern slopes.

Select the correct answer using the code given below:

Code -
(a) Both (A) and (R) are true and (R) is the correct

& -3

explanation of (A).
(b) (A) is false but (R) is true.
(c) (A) is true but (R) is false.

explanation of (A).

HK,%O

[C-01]

[P

i

(/

(d) Both (A) and (R) are true but (R) is not the correct @

344 3k IR F RV (R) HET T &
afrFduT (A) : mﬁmmmm
gaml @l qe | T 6 o
AT 2 |
W{R]:@lma‘ammwmﬁ
(6 ﬂmﬁa@ww"m*

ﬁﬁﬂmﬂﬂw;nn
‘ }o u 2 ? (417 F""’"
i

e - ;e Y
(a) (A) 3R (R) &I (R), (A) 1 |&
o W

] Hel €|
(LO

\ﬁm)&'ﬂm frg (RY et & |
(c) (A) e & g (R) 3 & |
(d) (A) 3R (R)&F1 W € fFg (R), (A) B G
R A8 B |

-
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27. Given below are two statements, in which one is
labelled as Assertion (A) 1nd the other as Reason (R):
Assertion (A) : Raja Ram Mohan Roy was the Editor

of "Sambad Kaumudi”, o Bengali weekly.
Reason (R) : His articles condemning the custom of
widow burning were published in it.
Select the correct answer using the code given below:
Code -
(a) Both (A) and (R) are try
explanation of (A).
(b) Both (A) and (R) are tru
explanation of (A).
(€) (A) is true but (R) is false,

¢ and (R) is comect

¢ but (R) is not correct

E(;Jam R 2t W & SRR (AT @

e F¥ € 1 (R), (A) B 7§
g ot § <

T e B

() (A) Wi & farg (R) 3l B

a2l

(d) (A) is false but (R) is true. o (d) (A) 3R & g (R)

28. Match List-I with List-Il and select the camct@iﬁ’l—liﬁ 11§ gAferd HITC HE” "2 o g

answer using the code given belo : THE BT L3 e gre -

List-I List-I1 O T g -1l
(A) Futuh-us-Salatin (1) Firoz Shah Tughlag E (A) Bgg—sa—wanaa (1) I AE g m"a'ai
(B) Futuhat-i-Firoz Shahi (2) Abdul Malik [sami (B) —U—fRITeEl (Z)ﬁ Afera
(C) Tarikh-i-Firoz Shahi (3) Amir Khusrau (C) TTRE—T—RpIaTendl | (3) IR G o
(D) Khazain-ul-Futuh (4) Ziauddin Barani (D) @Q’f—ﬂﬁ—ﬁg 4) m
Code - FT —
(a) A-3, B-2, C-1, D4 (b) A-1,B-3,C4.D-2 E (3) A-3. B-2. C-1. D4 (b; A-é, gj. %. g-?
(€) A-2,B-1,C4,D-3  (d) A-2, B4, C.3 D A2.B-1,C4,D-3  (d) A-2,B4,C-3,D-

29. Given below are two statements, in which one is Cmmﬂhﬁm—m o g o Th 3l
labelled as Assertion (A) and the otheras Reason (R): 9 aifwer (A) aiR T B PR (R) PET T & :f'
Assertion (A) : A person travelling in_a car with (A): &= A ;ﬁ R bl o

closed glass windows and doors is arel 'rb'ﬁ'ﬂ ﬁmg,?% GTFE!THT'\&T@H
safe from the lightening strike. ®S |

Reason (R) : Actually a closed car behaves like a
' hollow conductor, so charges cannot

PR (R): U@ 9% &R A<X ¥ @ aOed B
WE IER B! €, I A BR =

enter inside the car. by IR A TE TR U § |
Select the correct answer using the code given below:f:g 7 fir g T BT WANT R el IR B 99
Code - ' % %ﬁﬂ{ :
(@) (A) is false but (R) is true. <f -
(b) Both (A) and (R) are true but (R) is not correct v~ ::; E:; mal HEH(R?E?‘:? (R) gﬂ? 2l
explanation of (A). : o ;r:“ R R), (A) & |
(c) Both (A) and (R) are true and (R) is correct (A) 3R (R) 2t
explanation of (A). o MmT@T HRAT R w9 8 &R (R), (A) =1
(d) (A) is true but (R) is false. w— () (A)wm R 5 (R) sryey 2
0. With reference to the ‘Rhine River in Europe’, which I(:.) 30. Wﬁﬁ g 75y @ NECER:] ﬁ“’ff%l%‘ﬂ ¥ J A
of the following statement/s is /are correct? S EERUARCE SR V2
L. Rhine river is an important pathway for industrial L) 1. Y87 &) I8 orefesy 1 3henfirg Tffafta 3
activity in northern Germany. = 9 j-%mgw W it 2
2. Port of Rotterdam is located at the mouth of the . Y P IR W T T8 &) fayg
Rhine river. . iy
Select the correct answer using the code given below: m?ﬁ' T T BT sy R WE IR H T
Code - ' T ~
(a) Neither: 1 nor 2 (b) Only 2 @781 2 (b) B 2
(¢) Both 1 and 2 (d) Only 1 S 1ER 2 9 (d) By |
=01) Page 80f32 .
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1. Consider the following statements wi
S with reference
Rudrama and choose the . fice to
e correct statements about
(1) Rudrama was fourth independent ruler of
Kakatiya dynasty of Warangal, ot N
(2) She defeated Pandyas of South Tamil Nadu, -

Eastern Ganga rulers of Orissa and Seun: ‘N
of Devgiri. a and Scuna rulers
_(a) Only | (b) Neither 1 nor 2 E:;

(c) Both 1 and 2 (d) Only 2

2. Which of the following statemenv/s is /are correct?

1. First Agricultural University was established at
pantnagar, Uttarakhand (erstwhile part of Uttar
Pradesh) in 1960.

—

1. During 1901-1905, six agricultural colleges were IT;
established at Kanpur, Pune, Sabour, Nagpur, 1
Lyallpur and Coimbatore. L\j

Code - W

(8) Neither I nor I1 (b) Only 1I -

(c) Only 1 _ (d) Both Iand 11

. The 6® Schedule of the Indian Constitution is related

to the administration of Tribal arcas of -
(a) Assam, Arunachal Pradesh, Tripura & Mizoram 7.

(b) Assam, Tripura, Nagaland & Mizoram w
(c) Assam, Nagaland, Meghalaya & Mizoram L‘j
(d) Assam, Meghalaya, Tripura & Mizoram o

. Match List-I and List-IT and select the correct answer

using the code given below —
List-I List-1I
(Country) (Total Medals won
in Hangzhou, Asian .
Games-2023) f
A. China 1. 190 )
B. Japan _ 2.107 Ry
C. Republic of Korea 3.383 W
D. India 4,188 o,
Code -

(8) A-3, B-2,C4,D-1  (b) A-2,B-1, C-3,D-4
(c) A-1,B-2,C4,D-3  (d) A-3, B-4,C-1,D-2

. Match List-I with List-Il and choose the correct
answer using the code given below :

List-I List-1I
(A) Vitamin-C (1) Night blindness
(B) Folic Acid (2) Beri-Beri
(C) Vitamin-A (3) Anemia
(D) Vitamin-B1 (4) Scurvy
Code -

(b) A4, B-3,C-1,D-2

(a) A-1,B-2,C-4,D-3
(d) A-2,B-3,C-1,D-4

(c) A4, B-3,C-2,D-

3. v @ il i Prefafa T )RR BT
T 9D ar a9 dua g -
(1) Tom a/Td @ armda an @ dhef) wdE
s off |
(2) WA e afeerg @ avga, sdm B g

W v, dafid @ WS AR B Gt
fara |
(a) @ae | ()ya @1 A2
| a3fiv 2 & (d) ®ad 2
32. fyeifafaa wuA /@uEi § @ BE-A/9 el
e/e?

1. qEen it fvafaeran, v, sowras (g 3
IR wew @1 fewm) ¥, 1960 %, wenfia s T

o1 |
1. 1901-1905 @ TRM, ®FYR, GO, TR, ATER,
AR 3R FrEgy # v g A
werfie fag Q|
Wz‘ﬁ_
(@Aad@ImAI (b) @adt 11
(c) Bad 1 d) 1 3R 11 <
33. yRrdm wfdE @ aqaq:ri‘rﬁh—-imu‘ia‘:
S 83 B -

() are, arovmae wew, Fgwr 3 feie

(b) s, fqm, ArTavS 7 fARA

(¢) o, AMTave, AU 4 AR
e, Hererg, g 3 iR

“-;pﬂ.]aznq:‘ﬂ-nﬁmmﬁmwﬂz?ﬂ

I B Y GE IR FI TG I —
-1 =11
@) (ETers TR We-2023
¥ W gt A wE)
A. 94 1. 190
B. W ~ 2.107
C. sRar TR 3.383
D. ¥Rd 4. 188

(a) A-3,B-2,C4,D-1  (b) A-2,B-1,C-3,D-4
(c) A-1,B-2,C4,D-3 e A3, B4,C-1,D-2
35. @-lﬁ@-lla@maﬁmwﬁmm

Fe 1 N R @ SR G

T Sy
(A) faefi=-C (1) TR
(B) Wiferd 3 (2) Q-4
(C) freff[-A ~(3) XEITeH
(D) e -B1 4) wHdl
R -

.ﬂf A-1,B-2,C4,D-3 M—4. B-3,C-1,D-2
(c) A4,B-3,C-2,D-1 (d) A-2,B-3,C-1.D4
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19. Given below are two statements, in which "‘"‘;”n
labelled as Assertion (A) and the other as Rea:

(R) -
Assertion (A) : India is the largest producer of Jute

in the world.
Reason (R) : India’s Jute production increased due
to Yellow Revolution,

Select the correct answer using the code given below-

Code -

(a) Both (A) and (R) are true but (R) is not correct
explanation of (A).

(b) (A)is true but (R) is false.

(c) (A) is false but (R) is true.

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).

20. Given below are two statements. in which one is
labelled as Assertion (A) and the other as Reason (R)-
Assertion (A) : Roscomos's Luna-25 mission to

moon  was  aimed at ensuring
guaranteed access to moon.
Reason (R) : Russia and China together are leading
International Lunar Research Station
(ILRS) against US. led Artemis
Accord.
Select the correct answer from the code given below-

Code -

(a) (A) is true but (R) is false.

(b) Both (A) and (R) are true but (R) is not comrect
explanation of (A).

(¢) Both (A) and (R) are true and (R) is cormrect
explanation of (A).

(d) (A) is false but (R) is true.

21. x% of yisequalto y% of ...........
(a) x (b) 100x

{e) X (d) None of the above
100
22. Given below are two statements, in which one is

labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : During the winter season, most part
of India is dry.
Reason (R) : Most parts of the country are under
influence of the northeast trade winds

during the winter season.
Select the correct answer using the code given below:

Code -
(a) Both (A) and (R) are true and (R) is the correct

explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

(€) (A) is false but (R) is true.

(d) (A) is true but (R) is false.

3 R
2. MAFFARAME Rt wa ®1 aifyeum (A)

2|
ww;_éi"i‘-‘ﬂ?ﬁ o
(e) (A) o & (779 BT o0t R, (A) @1

(d) (A) 3R (R) @1 I

amEl €| gmﬁﬁ@m&

20, A @ wert @O T8 oo (R) v T ¢
frHer (A) T W AI-25 fiem
afEa (A): 7‘1‘3‘3‘”\' =

Stw T OB _UET B ARG

Wﬁ%mjjmiﬁﬁqﬁ

W(R]'zﬂﬁmm% oty B
WWWW(ILRSJ
aﬂ:\qwﬂﬁ§|

ﬁaﬁqwﬁﬂ'ﬂiﬁw?ﬁq_

€wc —
(a) (A) T & g (R) 3 2|
(b)¢A) 3R (R) 21 wed € fF=g (R). (A) &l w8

e e AT & |
(€) (A) 3R (R) F1 W & 3R (R), (A) @ &

AR HYCT 2 |
(d) (A) 3rrew & fvg (R) Ww B

21, y F x% f&5ud y% & qwaw 22

(a) x & (b) 100x &
(d) SR A | I A

IR TW B IRV (R) Ber Ty B -
e (A) : Edla ey m'«r'cmaaﬂm

$RT (R) : tﬁmméﬂ%aﬁmm
Wf[gfmwmﬁa‘smﬁwﬁ

ﬁﬁ?‘lﬂ‘&a‘;‘am
AR - ST TR W IR F1 9

az‘?_

@ (A) 3R (R) 2FF T

(b)fm@lmél PR ®. ) A
(A) 3R (R) 2
e 7 e 8 TS (R). (A) A

(c)(i\)m’%ﬁ)—-ﬁ(mmgl

A (A) T & By R) sy 2

c-01] _Pagc 60f32°

ST

Scanned with CamScanner



1 £ o ! ﬂrm'[ 2 '?m
. Gi\'ﬂl bcl(!w are two staleme . . y m 'Tq ! ﬁT ’
! nts, in which one is 1. R @ FRY (R) qrt @1
labelled as Assertion (A) and the other as Reason (R): sifrger (A) AR {!Ilﬂf‘: gard agdl &
|

Assertion (A) : The boiling point of water decreases afywu (A) q?;;ﬁ ﬂzﬂT.tE - qaal g T
agisd o g T

as the altitude increases.
Reason (R) : The atmospheric pressure increases (R): g @ % R w2
with altitude. fa Ry g G I
Select the correct answer using the code given below: i
Code - Hiz - 21
(@) (A) is true but (R) is false. ‘MAH@ ¢ g (R}mﬂ 2
(b) (A) is false but (R) is true. (b) (A) 3T & fag (R).ﬂf‘ (R), (A) @l
() Both (A) and (R) are true and (R) is comect Ye) (A) R (R) il wd €
explanation of (A). anen ol 2 (R) (A) il
(d) Both (A) and (R) are true but (R) is not correct P) (A) 3R (R) a1 FA ¢ fag (%
explanation of (A). i 8w ¢ e adq
2. Which of the following city/cities is/are not situated 2. Prefafem d A DA w1/ '
in present day Afghanistan? s d Rerd T8 2/ 4 HARDG
I. Ghazni 2. Fergana 3. Kandahar 4.Samarkand Lo 2w A TER Cap
Select the correct answer from the code given below: A Ry ™ e | QA & SR BT v
Code - e -
(a) 2and 4 (b) Only 1 (a) 2 3R 4 (b) @act 1
(c) 2and 3 (d) Only 4 X 23R 3 udy@ad 4 ,
3. What is the correct chronological order of the Sultans 3. 1% do & gearl @ wel Frergea T &
of Sayyid dynasty? (1) = @m (2) E¥IR WE -
(1) Khizr Khan (2) Muhammad Shah 3) e (4) g e e
(3) Mubarak Shah  (4) Ala-ud-Din Alam Shah i Ry v @ w F7 WA 9 B T4
Select the correct answer from the code given below: T :
Code - HE —
(a) 1,3,4,2 (b) 1.4,2,3 (a) 1.3,4.2 (b) 1,4,2,3
(c) 1,3,2,4 (d1,23,4 \Eﬁ) 1,3,2,4 (d)1,2,.3,4
4. A voltage of 15 volt is applied across a colour coded 4. g? 77 3R Ta 9T @ UEd, @R AR frek e
carbon resistor with first, second and third rings of Ay 1 BIfed e WRRE W) 1S gree @1
brown, green and black colours. What is the current dredal ST A @ | Sk & A ¥ waifed
flowing through the resistor? g1 areh arT @ 27
~ (a) 3 ampere (b) 2 ampere (a) 3 iR (b) 2 TR
(c) 1 ampere (d) None of the above (c) 1 TR (d) ST 9§ B AE
5 TR B &R0 W AR ¥ a1 9 IBR

5. Consider the following types of erosion and arrange

these in correct sequence in lerms of the increasing '
order of soil loss from the field due to these types of R et — & oafd B —
erosion - o Solash erod I e eV (ae) 1 derd &R
L Gullycion e roon i, T e . e ren
Select the correct answer from the code given below- :E fg ¢ g W WE I I AU DAY ~
COde' -
(a) IV, LIIL I (b) I, IV, IIL I (@) v, LIL I (b) IL IV, IIL, 1

A6 UL ILL IV (d) IL IIL, IV,

(d) I]' HI' IV| I "
nts with reference to - 6. G B

(c) I, II, LIV
3 wed ¥ fFrafalea o=t

6. Consider the following stateme

Attomey General of India - _ R frar #fw -

1. Hc.hp‘lds office during the pleasure of the Prime |3 warrE @ A T 98 W Srg—

2. H::;ﬁ:ilg::ﬁr:-lillcd to the privileges of a Member of Eﬁ-g g“wﬂzﬂ; ;’: Wﬁqmﬁ 8 €

Select the correct answer from the code given below: e - .

@ Only 1 (b) Only 2 , ] BT b) 5w 2

(©) Neither Lnor2____(d) Both 1 and 2 “2&59"5”“'“'@2 (d) 137 2 ¥

2 M —_

el - Pasee ST T
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